

JAIPUR DEVELOPMENT AUTHORITY

Name of Work:- Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur

TECHNICAL BID

EXECUTIVE ENGINEER (ELECT.-IV)
JAIPUR DEVLOPMENT AUTHORITY,
JAIPUR

जयपुर विकास प्राधिकरण, जयपुर

इन्दिरा सर्किल जे.एल.एन. मार्ग, जयपुर

बिड सूचना / जिवप्रा / अधि.अभि. / विद्युत—चतुर्थ / 2021—22 / डी—684 दिनांकः 29.10.2021

पूर्ण कालीन बिड सूचना सं. 07/2021-22

जिवप्रा के जोन (विद्युत—चतुर्थ) में "Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur." के तकमीना राशि रू. 1906.87 लाख के लिए दिनांक 22.11.2021 सायं 6.00 बजे तक ऑनलाईन निविदा आमंत्रित की जाती हैं। विस्तृत विवरण जो कि निविदा प्रपत्र में उपलब्ध है, अद्योहस्ताक्षरकर्ता के कार्यालय में अथवा राजस्थान सरकार के उपापन पोर्टल www.sppp.rajasthan.gov.in व www.eproc.rajasthan.gov.in एवं जयपुर विकास प्राधिकरण की वेबसाईट www.jda.urban.rajasthan.gov.in पर देखी जा सकती है।

ואסוו	No
LIBIN	IN()

निविदादाता को निविदा में भाग लेने हेतु आवश्यक है कि :-

- 1. जयपुर विकास प्राधिकरण की वेबसाईट www.jda.urban.rajasthan.gov.in पर पंजीकृत हो तथा निविदा शुल्क व आर.आई.एस.एल. प्रक्रिया शुल्क केवल ऑनलाईन ही देय होगी।
- 2. ऑन लाईन निविदा में भाग लेने हेतु राजस्थान सरकार के पोर्टल www.eproc.rajasthan.gov.in पर पंजीकृत हो।

अधिशाषी अभियन्ता (विद्युत—चतुर्थ), जविप्रा, जयपुर।

JAIPUR DEVELOPMENT AUTHORITY

Room No. 26 A, Main Building, Ground Floor, Ram Kishore Vyas Bhavan, Indira Circle, Jawahar Lal Nehru Marg, Jaipur – 302 004

Telephone: +91-141-2569696 e.mail: prafullakumar.jda@rajasthan.gov.in

No. JDA/XEN/Elect-IV/2021-22/D-684 Dated: 29.10.2021

NOTICE INVITING BID

NIB No.-: 07/2021-22

Online Bids are invited up-to 06:00 PM of 22.11.2021 for "Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur." estimated cost of Rs. 1906.87 Lacs. Details may be seen in the Bidding Document at our office or the website of State Public Procurement Portal website www.sppp.rajasthan.gov.in, www.eproc.rajasthan.gov.in and www.jda.urban.rajasthan.gov.in.

To participate in the bid, bidder has to be:

- 1. Registered on JDA website www.jaipurjda.org For participating in the Bid, the Bidder has to apply for the Bid and pay the Bidding Document Fee, RISL Processing Fee and Bid Security Deposit, online only.
- 2. Registered on e-Procurement Portal of Government of Rajasthan www.eproc.rajasthan.gov.in for online e-Bid submission.

Executive Engineer (Elect-IV) JDA, Jaipur

JAIPUR DEVELOPMENT AUTHORITY

Room No. 26,Main Building,Ground Floor, Ram Kishore Vyas Bhavan, Indira Circle, Jawahar Lal Nehru Marg, Jaipur – 302 004 Telephone: +91-141-2569696 e.mail : xxxxxxxxx@jaipurjda.org
JDA/XEN/Elect-IV/2021-22/D-684

Dated : 29.10.2021

NOTICE INVITING BID NIB No. : 07/2021-22

Name & Address of the Procuring Entity	 ➤ Name: Executive Engineer (Elect-II), Jaipur Development Authority ➤ Address: Room No. 26, Main building, Ground Floor, Ram Kishore Vyas Bhavan, Indira Circle, Jawahar Lal Nehru Marg, Jaipur – 302 004 (Rajasthan) ➤ Email: prafullakumar.jda@rajasthan.gov.in
Subject Matter of Procurement	➤ Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur ➤ JDA/EE Electric IV/A & F/2021-2022/Oct/236 Dated: 29/10/2021
Bid Procedure	Two Stage Tender (eg. Two-stage three part (envelope) open competitive) eBid procedure at http://eproc.rajasthan.gov.in
Bid Evaluation Criteria (Selection Method)	➤ L1 (eg.Least Cost Based Selection (LCBS)-L1)
Websites for downloading Bidding Document, Corrigendum's, Addendums, etc.	Websites: www.sppp.rajasthan.gov.in , jda.urban.rajasthan.gov.in
Website for online Bid application and payment *	➤ Website: http://jda.urban.rajasthan.gov.in ➤ For participating in the Bid, the Bidder has to apply for this Bid and pay the Bidding Document Fee, RISL Processing Fee and Bid Security Deposit, online only. ○ Bidding document fee: Rs. 1000.00 (Rupees One Thousand only) ○ RISL Processing Fee: Rs. 1000.00 (Rupees One Thousand only) ○ Requisite Bid Security Deposit -
Estimated Procurement Cost	➤ INR 1906.87 Lacs (Rs. Nineteen Crore Six Lacs Eighty Saven Thousand Only)
Bid Security Deposit	 All the eligible contactors should submit bid security declaration on non-judicial stamp of Rs 50/- as per order issued by finance department (GF&AR) GoR dated 23.12.2020 (Declaration attached with tender document) in lieu of bid security. It is mandatory to submit bid security declaration in prescribed format along with the bid. Eligibility: Bidder who is E-1 class contractor registered on other Government Department and Bidder registered as contractor E-1 in JDA.
Date/Time/Place of Pre-Bid	 N/A Last date of submitting clarifications requests by the bidder<date and="" time=""></date> addressed to the procurement entity at <address entity="" of="" procurement=""></address>
Applying bid and making online payment on JDA portal (www.jda.urban.rajasthan.gov.in	 Start Date: 01.11.2021at 9.30 AM onwards End Date: 22.11.2021 at 06:00 PM
Bid submission on e-procurement portal of GOR (www.eproc. rajasthan.gov.in)	Start Date: 01.11.2021at 9.30 AM onwards End Date: 22.11.2021 at 06:00 PM
Date/ Time/ Place of Technical Bid Opening	➤ 23.11.2021 at 11.00 AM, Room No. 208, Second Floor, Court Building Ram Kishore Vyas Bhavan, Indira Circle, Jawahar Lal Nehru Marg, Jaipur – 302004 (Rajasthan)
Date/ Time/ Place of Financial Bid Opening	➤ Will be intimated latter to the technically qualified bidder.
Bid Validity	➤ 120 days from the bid submission deadline
Time Period	> 6 (Six) Months
Job No:-	JDA/EE Electric IV/A & F/2021-2022/Oct/236 Dated : 29/10/2021
* Jaipur development authority has d	ecided to receive Tender fee and RISL processing fee online through JDA portal.

Note

- 1. Bidder (authorized signatory) shall submit their offer on-line in Electronic formats both for technical and financial proposal.
- 2. In case, any of the bidders fails to pay the Tender Fee, BSD, and RISL Processing Fee, online (subject to confirmation), its Bid shall not be accepted.
- 3. To participate in online bidding process, Bidders must procure a Digital Signature Certificate (Type III) as per Information Technology Act-2000 using which they can digitally sign their electronic bids. Bidders can procure the same from any CCA approved certifying agency, i.e. TCS, Safecrypt, Ncode etc. Bidders who already have a valid Digital Signature Certificate (DSC) need not procure a new DSC. Also, bidders must register on http://eproc.rajasthan.gov.in (bidders already registered on http://eproc.rajasthan.gov.in (bidders already registered on http://eproc.rajasthan.gov.in before 30-09-2011 must register again).
- 4. JDA will not be responsible for delay in online submission due to any reason. For this, bidders are requested to upload the complete bid well advance in time so as to avoid 11th hour issues like slow speed; choking of web site due to heavy load or any other unforeseen problems.
- 5. Bidders are also advised to refer "Bidders Manual Kit" available at e-Proc website for further details about the e-Tendering process.
- 6. Training for the bidders on the usage of e-Tendering System (e-Procurement) is also being arranged by DoIT&C, GoR on a regular basis. Bidders interested for training may contact e-Procurement Cell, DoIT&C for booking the training slot.
 - Contact No: 0141-4022688 (Help desk 10 am to 6 pm on all working days) e-mail: eproc@rajasthan.gov.in Address: e-Procurement Cell, JDA, YojanaBhawan, Tilak Marg, C-Scheme, Jaipur
- 7. The procuring entity reserves the complete right to cancel the bid process and reject any or all of the Bids.
- 8. No contractual obligation whatsoever shall arise from the bidding document/ bidding process unless and until a formal contract is signed and executed between the procuring entity and the successful bidder.
- 9. Procurement entity disclaims any factual/ or other errors in the bidding document (the onus is purely on the individual bidders to verify such information) and the information provided therein are intended only to help the bidders to prepare a logical bid-proposal.
- 10. The provisions of RTPPA Act 2012 and Rules thereto shall be applicable for this procurement. Furthermore, in case of any inconsistency in any of the provisions of this bidding document with the RTPP Act 2012 and Rules thereto, the later shall prevail.
 - > The Following condition is now the part of the tender document.
 - "If any bidder quotes a rate below than the schedule "G" rates, i.e. rates below than "at par", then the bidder has to deposit the difference amount i.e. difference amount of the rates as per "at par" and quoted "below", as "work Performance Guarantee." This amount has to be deposited before the commencement of work and will be refund after successful completion of work. Lowest bidder will be issued LOA (Letter of Acceptance) and within 14 days period he has to deposit difference amount in the form of B.G./FDR/NSC. The validity of these shall be for a period three months beyond the stipulated date for completion/actual date of completion of work as per requirement. In case of non-deposition of the same in specified period, the Bid Security will be forfeited. In case work is not completed satisfactorily, the "work performance guarantee" will be forfeited and other action will be taken as per Contract Agreement."
 - BG refunded after successful completion of DLP period as per order of Principle Sectary UDH Vide no. P-01(24)NVV/1/25020 Loos Jaipur dated 20.09.2021

Executive Engineer (Elect-IV) JDA, Jaipur

JAIPUR DEVELOPMENT AUTHORITY JAIPUR

TECHNICAL BID (POST QUALIFICATION)

Envelop-1

FOR

Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur

Period of Sale: - FROM 01.11.2021, 9.30 am To 22.11.2021, 6.00 pm

Date of receipt of the tender: - UP TO 22.11.2021, 6.00 PM

Date of opening of Technical bid: - On 23.11.2021 AT 11.00 AM at Room No. 208,

Second Floor, Court Building, Ram Kishore

Vyas Bhavan, Indira Circle, Jawahar Lal Nehru

Marg, Jaipur - 302004 (Rajasthan)

Cost of tender: - Rs. 1906.87 Lacs

Completion period: - 06 Months

NAME OF AGENCY -----

EXECUTIVE ENGINEER (Elect.-IV) JDA, Jaipur.

Jaipur Development Authority, Jaipur

Office Order

No.: JDA/IT(1074501)/E-Services/2015-16/D-399

Dated: 4-10-2016

Subject: Payment mechanism for participating in tender.

Jaipur Development Authority has decided to receive Earnest Moncy Deposit (EMD) (Bid Security), Tender Fee and RISL processing fee online through JDA Portal. The bid security options available in tender for participants are as mentioned below:

A. Payment Options:

Option-1: Bank Guarantee (BG) against EMD / Bid Security

Bidder may opt Bank Guarantee (BG) against EMD (Bid Security), for which bidder requires to prepare BG before applying in the tender. The details of BG requires to be fed on JDA portal before paying balance amount (Tender Fee + RISL Processing Fee). This amount will be paid through Payment Gateway only, option to make balance payment through EFT (RTGS/NEFT) will not be available.

If bidder does not opt for BG against EMD, options of making complete payment through Payment Gateway or through EFT (NEFT / RTGS) will be available.

Option-2: Electronic Fund Transfer (EFT: NEFT/RTGS)

If the bidder selects payment mode as EFT (NEFT/RTGS), "Paying Slip for EFT (NEFT/RTGS)" will be generated by the system for the complete amount. The payment can be made from any Bank any Branch using this Paying Slip through NEFT/RTGS (Claim against payment made through EFT in any other JDA bank account will not be acceptable and bidder stands disqualified from participation in the bid applied for). After successful transaction through NEFT/RTGS, as per the standard procedures it may take 4 to 24 hours in process of confirmation of EFT through Auto-Process depending on the time of EFT done. Therefore, option to make payment through EFT (NEFT/RTGS) will be available till 2 days prior to closing date of bid participation.

Option-3: Payment Gateway (Aggregator)

The facility to make payment through Debit Card, Credit Card, Net banking etc., will be available. User can use this facility from anywhere any time till the closing date & time of bid participation.

B. Bid Participation Receipt

After confirming payment, the bidder will get Bid Participation Receipt on the basis of which user will get the payment details along with other details for bidding on e-Procurement portal of GOR.

 In case of BG as the remaining payment will be done through Payment Gateway, on successful transaction the "Bid Participation Receipt" will be generated on real time basis.

Page 1 of 2

- In case complete payment is done through Payment Gateway, on successful transaction the "Bid Participation Receipt" will be generated on real time basis.
- In case complete payment is done through EFT (NEFT/RTGS), on confirmation
 of payment from ICICI Bank (Auto Process) "Bid Participation Receipt" will be
 available on Login of Bidder on JDA portal.

This payment mechanism will come into force w.e.f 15/10/2016. Thereafter, old payment mechanism related to NEFT/ RTGS in which the bidder makes direct payment without "Paying Slip for EFT (NEFT/RTGS)" in JDA's bank account will be discontinued.

All procuring entities are hereby directed to clearly mention this procedure in NIB document.

(Pawan Arora) Secretary

Copy for information and further necessary action to:

- 1. P.S. to JDC, JDA, Jaipur.
- 2. P.S. to Secretary, Secretary, JDA, Jaipur.
- Director (Law / Finance / Town Planning / Engineering-I / Engineering-II), JDA, Jaipur.
- 4. All Additional Chief Engineer _____, JDA, Jaipur
- 5. DC (Administration)/DC(Store)/DC (Vehicle), JDA, Jaipur
- 6. System Analyst, JDA, Jaipur
- Analyst-cum-Programmer, JDA to ensure integration of software w.e.f 01/10/2016.
- 8. All Xen_____, JDA, Jaipur.
- Officer-in-charge, SPPP Portal, Jaipur.
- 10.OSD (Public Relation) / PRO, JDA, Jaipur.

(Brijesh Kishore Sharma) OSD (RM)



राजस्थान सरकार नगरीय विकास एवं आवासन विभाग

क्रमांक:- प.01(24)नविवि / 1 / 2020 लूज

जयपुर, दिनांक:-20 SEP 2021

आदेश

नगरीय विकास एवं आवासन विभाग के अर्न्तगत विभिन्न विकास कार्यो की निविदाओं में संवेदकों द्वारा बी.एस.आर. दर से कम दर डालने पर अन्तर राशि (AT PAR की दर से जितनी कम है) वर्क परफोरमेंस गारन्टी के रूप में कार्य प्रारम्भ करने से पूर्व ली जाएगी तथा इसे कार्य के सन्तोषजनक रूप से पूर्ण होने के पश्चात दोष निवारण अवधि में कार्य की स्थिति सन्तोषजनक पाए जाने पर, दोषनिवारण अवधि उपरान्त वापस लौटा दिया जावेगा। न्यूनतम दरदाता की बोली नियमानुसार स्वीकृत कर Letter of acceptance (LOA) जारी किया जावेगा एव बी.एस.आर. दर से कम दर की अन्तर राशि की BG/FDR/NSC प्रस्तुत करने हेतु 14 दिवस का समय दिया जायेगा। अन्तर राशि जमा नहीं कराने पर BID SECURITY की राशि नियमानुसार जब्त कर ली जावें। यदि संवेदक वर्क परफोरमेंस गारन्टी राशि जमा कराने के पश्चात कार्य सन्तोषजनक रूप से पूर्ण नहीं करता है अथवा दोष निवारण अवधि में कार्य में खराबी होती है तो उसकी वर्क परफोरमेंस गारन्टी की राशि जब्त कर ली जावे एवं अनुबन्धानुसार अन्य कार्यवाही भी संपादित की जावें। यह आदेश तुरन्त प्रभाव से लागू किये जाते है। यह आदेश उन सभी निविदाओं पर लागू होगा जो कि भविष्य में जारी होगी तथा वे निविदाएं जो इस आदेश के जारी होने की दिंनाक तक अप्राप्त है, इस सम्बन्ध में निविदा दस्तावेजों में आवश्यक संशोधन तुरन्त संबन्धित उपापन अधिकारी द्वारा किया जावे एवं नवीन सभी निविदाओं में उक्त शर्तों का समावेश किया जाना सुनिश्चित किया जावे।

यह आदेश सक्षम स्तर से अनुमोदित है।

(कुन्जीताल मीना) प्रमुख शासन सचिव नगरीय विकास विभाग

कार्यालय का पता— खाद्य भवन, द्वितीय तल, कमरा नं० ७२०३, शासन सचिवालय, जयपुर—३०२००५ ई—मेल आई.डी. CEUDHRAJASTHAN@GMAIL.COM

Jaipur Development Authority

Bid Participation Receipt

Date & Time: 09/06/2015 05:13 PM

Bid Detail

Bid Id: 6215152001

Bid Title: Testing

Bid Value: 300000 Bid Opening Place: Manthan Hall, Jaipur

Development Authority

ChallanNumber: 641515600014

Bidder Detail

Name of Entity: XXXXXXXXXXX Mobile: 9829012345

Registration Type: Individual Instrument Amount: 32500.00

Payment Mode: Online/UTR Payment Channel : Payment Gateway/ICICI Branch - JDA

456123789 Instrument Date : 17-06-2015 Instrument No:

Dates Detail

Sr. No.	Event Name	Event Date
1	Publishing Date	01/06/2015 01:00 PM
2	Bid Opening Date	01/07/2015 03:00 PM

Specific Instrument Detail for eProc Rajasthan

Issuer Detail: Jaipur Development Authority

Instrument Type:	DD		
Instrument Number	Head Name	Amount	Date
10000	Tender Fee	400.00	05/06/2015
10001	RISL Processing Fee	1000.00	05/06/2015
10002	Bid Security Deposit	30,000.00	05/06/2015

Form of Bid-Securing Declaration

Date Bid N	
	native No. :
To:	
We t	he undersigned, declare that:
	nderstand that, according to your conditions, bids must be supported by a Bid-Securing Declaration.
We a	coept that we are required to pay the bid security amount specified in the Term and Condition of Bid, following cases, namely:-
(a)	when we withdraw or modify our bid after opening of bids;
(b)	when we do not execute the agreement, if any, after placement of supply/work order within the specified period;
(c)	when we fail to commence the supply of the goods or service or execute work as per supply/work order within the time specified;
(d)	when we do not deposit the performance security within specified period after the supply/work order is placed; and
(e)	if we breach any provision of code of integrity prescribed for bidding specified in the Act and Chapter VI of these rules.
under	dition to above, the State Government shall debar us from participating in any procurement process taken for a period not exceeding three years in case where the entire bid security or any part thereof uired to be forfeited by procuring entity.
We un	nderstand this Bid Securing Declaration shall expire if:-
(i) (ii)	we are not the successful Bidder; the execution of agreement for procurement and performance security is furnished by us in case we are successful bidder;
(iii)	thirty days after the expiration of our Bid.
(iv)	the cancellation of the procurement process; or
(v)	the withdrawal of bid prior to the deadline for presenting bids, unless the bidding documents stipulate that no such withdrawal is permitted.
Signe	. ,
Name	
In the	capacity of:
Duly a	authorized to sign the bid for and on behalf of:
Dated	on day of rate Seal

[Note: In case of a Joint Venture, the Bid Securing Declaration must be signed in name of all partners of the Joint-Venture that is submitting the bid.]

Carusain





जयपुर, दिनांक : 23-12-2020 क्रमांक : एफ.2(1)वित्त / जीएण्डटी--एसपीएफसी / 2017

वित्त विभाग की अधिसूचना क्रमांक एफ. 2(1)वित्त / जीएण्डटी - एसपीएफसी / 2017 दिनांक 18.12.2020 द्वारा आरटीपीपी नियम, 2013 के नियम 42(2) में संशोधन करते हुए आमंत्रित की जाने वाली आगामी बोलियों के संदर्भ में दिनांक 31.12.2021 तक बिड सिक्यूरिटी

(Declaration)

WLIQUID

(a)I

में घोषणा पत्र (Declaration) प्राप्त करने का नवीन प्रावधान किया गया है। अतः समस्त

(Declaration) का मानक प्रारूप संलग्न प्रेषित है। राजस्थान स्टाम्प अधिनियम, 1998 की धारा 3 सपिटत अनुसूची के अनुच्छेद 4 के अनुसार घोषणा पत्र (Declaration) पर 50/-रूपये स्टाम्प ड्यूटी देय है तथा इस स्टाम्प ड्यूटी की राशि पर नियमानुसार 30 प्रतिशत संस्थाओं

सिक्यूरिटी के संबंध में प्रस्तुत किए जाने वाले घोषणा पत्र (Declaration) पर उक्तानुसार

संलग्न- उपरोक्तानुसार

संयुक्त शासन सचिव

प्रतिलिपि निम्नांकित को सूचनार्थ एवं आवश्यक कार्यवाही हेतु प्रेषित है:-

- 1. सचिव, राज्यपाल / प्रमुखं सचिव, मुख्यमंत्री / विशिष्ट सहायक समस्त मंत्रीगण / राज्य
- उप सचिव, मुख्य सचिव/निजी सचिव, समस्त अति. मुख्य सचिव/प्रमुख शासन सचिव/ सचिव / विशिष्ठ शासन सचिव |
- सचिव, राजस्थान विधानसभा, राजस्थान, जयपुर ।
- सचिव, लोकायुक्त सचिवालय, राजस्थान, जयपुर ।
- 9. समस्त संयुक्त शासन सचिव/उप शासन सचिव/सचिवालय के समस्त अनुमाग/विभाग ।
- 10. समस्त विभागाध्यक्ष / जिला कलक्टर / संभागीय आयुक्त।
- 11. रजिस्ट्रार, राजस्थान सिविल सेवा अपील अधिकरण, जयपुर । समस्त वित्तीय सलाहकार/मुख्य लेखाधिकारी ।
- 13. समस्त कोषाधिकारी ।
- 14. समस्त उपापन संस्थाएं।
- 15. तकनीकी निदेशक वित्त विभाग को भेजकर लेख है परिपन्न को वित्त दिभाग की वेबसाईट पर प्रकाशित करवाने की व्यवस्था करावें।

रक्षित पत्रावली।

JAIPUR DEVELOPMENT AUTHORITY JAIPUR

SPECIAL CONDITION OF THE CONTRACT FOR POST QUALIFICATION OF CONTRACTORS

NAME OF WORK: Electrification of JDA Residential scheme, Lohamandi, JDA,

Jaipur

Special conditions of contract for **POST QUALIFICATION** as detailed here under, shall be applicable in addition to all other terms and condition already prescribed under standard agreement forms/rules and regulations to contract.

1. **Procedure:**

Procedure for **QUALIFICATION** would be as follow:

- (a) Tender document shall be submitted on line e-procurement website http://www.eproc.rajasthan.gov.in with their digital signature. The bid is to be submitted in 2 envelop which shall comprise of Envelop-1 being for Technical Bid (Potential Assessment, EMD, GST, Registration of Contractors, tender document) and Envelop-2 being for BOQ.
- (b) The Tender fee, processing fee and earnest money will be deposited online on or before **22.11.2021**
- (c) The Technical Bid envelope would be opened on the date 23.11.2021 at 11.00 AM Room No. 208, Second Floor, Court Building, Ram Kishore Vyas Bhavan, Indira Circle, Jawahar Lal Nehru Marg, Jaipur 302004 (Rajasthan)
- (d) The Financial Bid envelope would be opened only of those bidders who fulfil the ELIGIBILITY criteria in technical bid.

2.Criteria:

Criteria for Potential Assessment would be as follows:-

(a) The bidder should have executed following quantities of work in any one financial year during last five financial years. However the bidder may opt current year in the said financial assessment period.

S.No.	Item	Quantity
	Major Item of Schedule - G	
1	33KV HT Cable	12215 Mtr
2	11 KV HT Cable	7500 Mtr
3	LT cable 3.5 C X 185 Sqmm	9000 Mtr
4	400 AMP Piller Box	50 No.
5	200 AMP Feeder Piller Box	100 No.
6	Construction of New 33/11 KV GSS with control room	1 No.

Note:-

- (i) The Bidder should enclose the certificate having quantities Financial year wise other wise the certificate will not be considered.
- (ii) Quantities of all the items mentioned in criteria 2 (a) should be executed in one financial year.
- (iii) Certificate issued by Govt. of India, State Govt., Union Territory, Govt. Undertakings, Autonomous Bodies shall only be considered.
- (b) The bidder should have completed at least one electrical nature work in last 3 financial year (including current year, if opted by the bidder) of value not less than 50% of the Estimated Cost of the work (bid cost) updated to present price level)

Notes:-

- (i) The starting & completion date of the work is to be in between aforesaid financial year. If no then maximum work (70%) is to be completed in aforesaid financial year.
- (ii) If bidder is submitting certificate having different components / nature of work then proper completion certificate of required similar nature component is to be enclosed.
- (c) The bidder should have achieved an annual financial turnover of at least 60 % of the Estimated Cost of the work (bid cost) in any one of last 3 financial years (including current year, if opted by the bidder)

Note:-

- (i) The bidder should enclose certificate of Turn over from Chartered Accountant for last five financial year & audited balance sheet of the year which is considered by the bidder in criteria 2 (c).
- (ii) If current year or last year has been opted by bidder whose balance sheet is not submitted till the submission of bid then certificate from Chartered Accountant should be enclosed.
- (a) The bidder should give Affidavit to deploy the machinery and equipment as specified in Schedule III, for the execution of this work.
- (b) Bid Capacity: Bidders who meet the minimum qualification criteria will be qualified only if available bid capacity is equal to or more than the total Bid value.

The available bid capacity will be calculated as under:

Bid Capacity = $(A \times N \times 3 - B)$

Where A = Maximum value of Electrical Engineering work executed in any one year during the last 5 financial years (updated to present Price level) taking in to account the completed as well as works in progress.

However, the bidder may opt current year in the five year assessment period

N = Number of year prescribed for completion of the work for which bids are invited.

B = Value, at present price level of existing commitments and on going Works to be executed during 'N' period (period prescribed for Completion of the works for which the bids are invited)

Note:-

- (i) Certificate from Chartered Accountant should be enclosed by bidder clearly indicated maximum value of Electrical Engineering Work in one Financial Year.
- (c) Litigation History: Bidder should provide an accurate information on any litigation or arbitration resulting from contracts completed or under execution by him over the last five years. The maximum value (updated at the present price level) of disputed amount claimed in the litigation / arbitration resulting from contracts executed in last five years shall be deducted from the calculated Bid Capacity of the bidder. The details shall be furnished in Schedule VI. If schedule-VI is found blank then it will be treated as NIL.

Note:-

(i) The present price level for turnover, cost of completed work & disputed amount of similar nature, the previous years value shall be given weight age of 10% per year as follows:-

(a)	For current year	1.00
(b)	For last year	1.00
(c)	For one year before	1.10
(d)	For two year before	1.21
(e)	For three year before	1.33
(f)	For four year before	1.46

3. Documentation:

The bidder should furnish the following documents along with the technical bid:

- (a) Information regarding financial resources and capability in Schedule-I.
- (b) Information regarding works executed in the last five years in Schedule-II
- (c) Certificates from the concerned Engineer-In-Charge in support and verification of the information furnished in Schedule-II
- (d) Affidavit regarding machinery and equipment required for deployment, as detailed in scheduled-III.
- (e) Information regarding details of maximum value of electrical engineering works executed in any one year during the last five years taking into account the completed as well as works in progress in schedule-IV.

- (f) Information regarding existing commitments and ongoing works to be completed in schedule–V. If it is found at any stage that the bidder hides his existing commitments than proper action will be taken as per RTPP act and Rules.
- (g) Information regarding details of litigation or arbitration contracts to be furnished in schedule-VI. If schedule-VI is found blank then it will be treated as NIL.
- (h) Calculation of Bid capacity in schedule-VII.
- (i) Affidavit as per Annexure I.

4. **Important**:

- (a) The bidder must ensure that all the information required in the Documents is furnished by him complete in all respects. He would not be allowed to withdraw any document, or to rectify any information furnished therein, after submitting the bid.
- (b) The bidder should give an affidavit that the information furnished in schedule I to VII is correct. If any information is found incorrect, the offer of the bidder shall be rejected and action be taken as per rules.
- (c) Bidders must do paging of all enclosure of bid documents.

5. Rejection of bids

The department reserves the rights to reject any bid or to disqualify any or all the bidders, without assigning any reasons at any stage.

- (i) If Bid is not accompanied with the requisite documents mentioned in clauses 3 (a) to 3 (i) or is not in accordance with procedure specified in Para 1, or is not accompanied with earnest money, tender fee, processing fee & VAT/GST clearance Certificate and registration of contractor in required category it would be liable for rejection.
- (ii) Furnishing of incorrect or incomplete or concealment of any information required in the bid documents would render the bid liable for rejection.

(iii) If all the copies enclosed in support and affidavit is not duly attested by Notary public/gazetted officer then bid of the bidder is to be rejected.

EXECUTIVE ENGINEER (Elect.-IV) JAIPUR DEVELOPMENT AUTHORITY JAIPUR

Schedule - I

FINANCIAL RESOURCES AND CAPABILITY

[Reference clause 3 (a)]

Name of Bidder

2	Total financial	turnover achieved by	y the hidder in	the last five	financial	voare.
۷.	Total Illiancial	turnover achieved b	y me bidaer m	me iasi nve	IIIIanciai	years.

Total material turnover achieved by the blader in the last five intancial years					
S.no.	Year	Turnover			
(1)					
(2)					
(3)					
(4)					
(5)					

Note: Balance Sheets and Profit & Loss Accounts is to be enclosed by the bidder which is considered by him as per criteria 2 (a).

- 3. Total financial Turnover projected in the current financial year
- 4. Has the bidder ever been debarred from tendering for Central Government / State Government / any Government undertaking?

Yes / No, if yes give details.

- 5. Has bidder ever been declared insolvent?
 - Yes/No, if yes give details.
- 6. Name(s) and Address of Branch/(s) for bidder's Bankers.

I/We hereby certify that the above information is correct to the best of my/our knowledge and belief.

SCHEDULE - II

(Reference Clause 3b)

Detail of quantities of work executed during last five financial years

S. No.	Name of Work (with Agreement No. & Date)	Place (District/Sta te)	Financial Year	Principal item of work	

Note: Certificate from concerned Engineer-in-charge should be enclosed in support and verification of the above statement.

To be given on Non-Judicial stamp Paper of Rs. 10/- only, duly attested by Notary Public

Schedule - III

[Reference Clause 3(d)]

AFFIDAVIT

I/We	Proprietor/	Partner/
Authorized signatory of M/s	under	take the oath
that I/We will deploy the machinery and equipmen	nt listed below	as and when
required in the execution of this work.		

S.No.	Name of Machinery	Minimum	Availability		
		Requirement	Owned	Leased	
1	Digital Insulation tester 5 KV, with timer	1 No's			
2	HV Test set	1 No's			
3	Hydraulic Crimping tool up to 300 sqmm	1 No's			
4	Multimeter	1 No's			

I/We hereby certify that the above information is correct to the best of my/our knowledge and belief.

SCHEDULE -IV (Reference clause 3e)

DETAILS OF MAXIMUM VALUE ELECTRICAL ENGINEERING WOKRS EXECUTED IN ANY ONE YEAR DURING THE LAST FIVE YEARS TAKING INTO ACCOUNT THE COMPLETED AS WELL AS WORKS IN PROGRESS

S.No.	Name of works (with agreement no. & date)	Client	Place (district/State)	Financial year	Cost of work as per work order	St. date of commencement	St. date of completion	Value of work done during the year

SCHEDULE - V (Reference Clause 3f)

DETAILS OF EXISTING COMMITMENTS & ON-GOING WORKS TO BE COMPLETED IN NEXT ONE YEAR FROM DATE OF SUBMISSION OF BID

S.	Name of	Place		Ongoi	ng work	Existing Commitments	
No.	No. Work	and State	Cost of work	Cost of work Remaining to be executed	Value of remaining work at present price level as on updated @10% per year	Estimated cost (Rs. In lacs)	Value of present price level as on updated @10% per year

Remark: If it is found at any stage that the bidder hides his existing commitments than proper action will be taken as per RTPP act and Rules.

SCHEDULE -VI (Reference clause 3g)

DETAILS OF LITIGATION OR ARBITRATION CONTRACTS

S.No.	Name of works (with agreement no. & date)	Client	Work order amount	Disputed amount claimed in litigation/ Arbitration	Date of raising disputed amount	Actual award amount, if the case is decided	Cause of litigation & Matter in dispute

Remark: If schedule-VI is found blank then it will be treated as NIL.

SCHEDULE-VII (Reference Clause 3 h) BID CAPACITY

Name of bidder	'
ranic or branci	·

<u>1.</u>	<u>A =</u> Maximum value of Electrical	Lacs	Certified details enclosed at
	Engineering work executed in any one		Page no
	year during the last five finance years		
	(Updated to present price level)		
<u>2</u>	N = Number of years prescribed for	Year	
	completion of the work, for which		
	bids are invited		
<u>3</u>	B= Value, at present price level of	Lacs	Certified details enclosed at
	existing commitments and on going		Page no
	work to be completed during the N		
	period		

Bid capacity = A X N X 3 - B = -----Lacs

ANNEXURE- I

[Reference Clause 3(i)]

To be given on Non-Judicial stamp Paper of Rs. 10/- only, duly attested by Notary Public

AFFIDAVIT

I/We				Proprietor/	Partner/
Authorized sig	gnatory of M	/s		und	ler take the
oath that the	information	furnished by	me/us	in schedule I to	VII of the
assessment	Bid	for			
• • • • • • • • • • • • • • • • • • • •		•••••	is co	crect to the best	of my/our
knowledge. If a	any informati	on is found to	be incorr	ect JDA has right	to reject the
Bid and to take	action agains	st me/us as pe	r rules.		
		Propriet	or/ Partr	ner/ Authorized si	gnatory
		M/s .			



JAIPUR DEVELOPMENT AUTHRORITY

Name of Work:- Electrification of JDA Residential scheme, Lohamandi, JDA Jaipur.

Financial Bid

EXECUTIVE ENGINEER (Elect.-VI)

JAIPUR DEVLOPMENT AUTHORITY,

JAIPUR

Name of Work:- Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur

CONTENTS OF BIDDING DOCUMENT

S.No.	Details	Page No.
1.	General Instructions to contractors	3-6
2.	Special Condition for post qualification	7-10
3.	Special condition of contract	11-14
4.	Inspection and testing	15-17
5.	Minimum Safety rules	18-22
6.	Guarantee	23-24
7.	Erection testing and commissioning	25-34
8.	GTP to RMU	35

1-GENERAL INSTRUCTIONS TO CONTRACTOR

- 1.1 The Bidder is expected to examine carefully all instructions, conditions, forms, terms, and performance specification and drawing in the bid Documents. Failure to comply with the requirements of Bid submission shall be at the Bidder's own risk, Bids which are not substantially responsive to the requirements of the bid documents shall be summarily rejected.
- 1.2 At any time prior to the last date for submission of bids, the Employer may, for any reason whether at his own initiative or in response to a clarification requested by a prospective bids, modify the bid Documents but the issuance of an Addendum.
- 1.3 The Addendum will be sent in writing or by Fax prospective Bidder who have received Documents, and will be binding unto them, whether the prospective Bidders acknowledge same or not.

2. DOCUMENTS AND'INFORMATION TO BE FURNISHED AT THE TIME OF BID SUBMISSION

- 2.1 The bid to be prepared and submitted by the Bidder to the Employer for consideration shall comprise the following.
 - a Form of bid duly singed along with the complete set of bid Documents. All documents issued for the purpose of biding as descried shall be deemed to have been incorporated in the bid for the work.
 - b Bid security, Bid fee and processing fee as applicable in form of demand draft of any Nationalised Bank of India in favour of the Secretary Jaipur Development Authority Jaipur', payable at Jaipur.
 - c Sales Tax Clearance Certificate from the concerned departments
 - d Bill of Quantities with the rates (both in figures as well as in words) and amounts for, all items of work duly filled in.

3. **BIDED PRICES**

- 3.1 Unless explicitly stated otherwise in the Bid Documents, the contract shall be for whole based on the departmental design, Bill of Quantities, rates and prices submitted by the Bidder.
- 3.2 The Bid shall fill in percentage rate (above/below) for the scheduled rates items and rates and rates and prices for all items in Non scheduled category of works describe in the Bill of Quantities in both figures and words, In case, there is any discrepancy in the rates

quoted in figures and words, the rates, quoted in words shall be taken as correct. Item against which no rte of rice is entered by the Bidder will not be paid for the employer when executed and shall be deemed to have been covered by the rates and prices in the Bill of Quantities.

3.3 All duties, taxes, fees and other levies (present and future) payable by the contractor under the Contract, or for any other cause, a on the date thirty days prior to the closing date for submission of bids, shall be included in the total Contract Price submitted by the Bidder and the evaluation and comparison of bids by the Employer shall be made accordingly.

4. BID SECURITY

- 4.1 The Bidder shall furnish as part of his bid security for the respective amounts as mentioned in the NIT (Annexure 1 and 2). The amount is to be deposited online by bidder. In case the amount exceeds the online payment limit, the payment may be made through RTGS/NEFT in ICICI BANK LTD Bank Account Number 675401700586 IFSC Code ICIC0006754. After successful payment, update the UTR/Instrument number on JDA Tender portal against the tender you want to participate. The amount deposited will be confirmed by JDA and will be updated online.
- 4.2 Any bid not accompanied by bid security, bid fee and processing fee will be summarily rejected by the employer as non-responsive.
- 4.3 The bid security of the unsuccessful Bidder will be discharged/returned without interest as promptly as possible as but not later than 60 days after expiry of the bid validity prescribed by the employer.
- 4.4 The bid security of the successful Bidder will be discharged without interest upon the Bidder signing the agreement and furnishing the Bank Guarantee/ Surety Bond for the performance of the Contract.
- 4.5 There will no liability on the part of department towards interest on the Earnest Money paid by the Bidder.
- 4.6 The bid security shall be forfeited:
 - a If a Bidder withdraws his bid during the period of bid validity, or
 - b In the case of a successful Bidder, if he fails or refuses within the specified time limit, to:
 - i Sign the agreement, or
 - ii Furnish the required performance security.

5. VARIATIONS OR DEVIATIONS IN BID DOCUMENTS

5.1 The bid shall submit an offer which complies fully with the basic requirements of the bid Documents as indicted in Drawing and Specifications.

5.2 All Bidders are cautioned that no conditional offers, variations or deviations by the Bidders in respect of any items proposed by the Bidder shall be entertained or considered further in the process of bid evaluation. Furthermore, any deviation from contract conditions, specification, or other requirements stipulated in these Bid Documents shall be summarily rejected as non-responsive.

6. VALIDITY OF BID

- 6.1 The Bid shall remain valid and open for acceptance for a period of 4 (four) months after the date of opening of bid.
- 6.2 In exceptional circumstances, prior to expiry of the original bid validity period, the Employer may request the Bidder for a specified extension in the period of validity. The request and the responses thereto shall be made in writing through post, fax etc. A Bidder may refuse the request without forfeiting his bid security. A Bidder agreeing to the request will neither be required nor permitted to modify his bid, but will be required to extend the validity of his bid security correspondingly The provision of Clause D regarding discharge and forfeiture of earnest money shall continue to apply during the extended period of bid validity.

7. FORMAT AND SIGNING OF BIDS

The complete bid shall be without alterations, interlineations or erasure, except those to accord with instructions issued by the Employer or as necessary to correct errors made by the Bidder, in which case such corrections shall be initiated by person or persons signing the bid.

8. EMPLOYER'S RIGHT TO ACCEPT ANY BID AND TO REJECT ANY OR ALL BIDS

Notwithstanding, Employer reserves the right to accept or reject any bid, and to annul the biding process and reject one or all bids, at any time prior to the award of contract, without thereby incurring any liability to the affected or renderer's or any obligation to inform the affected Bidder or Bidders of the grounds of the Employer's action.

9. NOTIFICATION OF AWARD OF CONTRACT

Prior to the expiry of the period of bid validity prescribed by the Employer, the Employer will notify the successful Bidder by telegram / cable or fax (and subsequently confirm in writing by Registered Letter) that his bid has been accepted. This letter called "Letter of Acceptance" shall name the sum which the Employer will pay to the Contractor in consideration of the execution, completion and maintenance of the work by the Contractor as prescribed by the Contract (called the "Contract Price").

10. The Letter of Acceptance will form part of the Contract and agreement executed between the parties in accordance with the Form of agreement provided in the bid.

11. Upon furnishing by the successful Bidder of a Performance Security in accordance with the provisions of the special conditions of contract, the Employer will promptly notify the unsuccessful Bidder that their bids have been unsuccessful and will discharge / return without interest their bid security deposits in pursuance with Clause.

12. SIGNING OF AGREMNENT

At the same time as he notifies the successful Bidder that his bid has been accepted, the Employer will instruct the successful Bidder to sign and execute the agreement within seven (7) days of issue of the Letter of Acceptance.

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)
J.D.A., Jaipur

2-SPECIAL CONDITION FOR POST QUALIFICATION

1. The financial bid shall be opened only of those successful Bidders who qualify the technical Bid criteria.

Documents to be submitted with financial bid are as follows:

Percentage Rates on G-Schedule both in figures and in words duly filled in.

The financial bid will be evaluated on the basis of basic rates of the System (SITC of the Job).

On bid scrutiny, if differences are found in rates given by the bidder in words and figures in individual rates or in sub-total or in grand totals the procedure for deriving the final value shall be as follows:

Before submission of the bids, the bidders are advised to visit the site and get acquainted with site conditions, availability of materials & labour. All clarifications must be sought by the bidders well in time and no extension of time shall be given on this account.

The bidders are advised to account for any fluctuations in market rates of material, equipment cost, labour rates etc. Any claim on these accounts shall not be entertained after the award of work unless specifically agreed to.

Bids not submitted on prescribed form are liable to be rejected.

Bidders are advised to quote original offer as per bill of quantities.

In case drawing and details are not enclosed with bid documents, these can be seen in the office of the department during office hours. Failure to avail of this shall not relieve the bidder of his responsibility of correct interpretation of work involved. Bidders who resort to canvassing in any form shall be liable to rejection.

Printed Conditions of contract: Any printed conditions and conditions contrary to these conditions of contract in contractors offer shall be excluded from the contract and not applicable to this contract.

The bid shall be valid for acceptance for a period of four months from the date of submission of the bid.

2. EXECUTION DRAWINGS

The successful bidder shall have to submit execution drawing to the department within a total period of 1 week from the date of issue of work order for approval by the department

3. TERMS OF PAYMENTS

As given in general Condition of contract in the approved standard agreement amended up to date.

No escalation charges shall be payable to the contractor over and above the rates as agreed to by the department in the detailed bill of quantities.

No advance shall be payable to the contractor.

The department does not bind themselves to accept the lowest or any bid and reserves the right to accept or reject any or all the bids in w hole or in part without assigning any reasons for doing so.

The contractor must acquaint, acquire themselves with the site conditions, means to access the work, local conditions and all matters pertaining there to. I shall be the contractors, responsibility to obtain all necessary information required for quoting the above bid and for entering into a contract. The detailed drawing and specifications available with the documents must be studied and examined carefully by the bidder before submitting their offers.

The successful bidder shall sign the agreement on non judicial stamp paper of requisite value within 10 day from the issue of work order. If the contractor selected fails to sign the agreement with ten days of the issue of work order his bid security shall be forfeited.

The following documents shall form part of the contract agreement: Invitation to bid.

All sections of financial and technical bid, contract (agreement), Bill of Quantities & drawings.

All correspondence between the successful bidder and the department. Any other documents necessary for completion of contract agreement.

The rates quoted in the bid shall include all charges for scaffolding, water, electricity charges, hiring charges for any tools/ equipments etc. required for completion of jobs. The rates shall be inclusive of excise duty, sales tax, octroi duty or any other duties or fees levies by Government or by public or local bodies from time to time.

Necessary documents for import shall be done by the contractor under his own arrangements for equipments of foreign origin. Proof of legal imports! purchase from manufacturer should be submitted at the time of supply, failing which the award may be terminated.

The works contract price quoted shall remain firm till completion of job and handing over the same in working condition to the department. The price should not be subject to exchange rate variations. No foreign exchange and license shall be arranged by Clint and it shall be contractor's responsibility to do so, if required.

It shall be contractor's responsibility to check and ascertain the correct quantities and only these assessed quantities in accordance with the requirement and as per the tentative schedule of work after approval of the Engineer-in-charge shall be brought at site after award of work order.

The contractor shall carry out additional! Reduce work or supply material/ equipments at the same quoted rates up to any increased or decreased quantities specified in detailed bill of quantities. The department shall also be at liberty to ask the contractor to supply, erect and commission rates within four months of stipulated date of commencement of the work order without any price variation.

4 BAR CHART & CASH FLOW CHART

The contractor shall prepare & submit a bar chart & cash flow chart in consultation with the department and shall strictly adhere to the same. The progress and the completion of the work shall be in accordance of the bar chart will form part of this contract agreement. The said schedule of work/ bar-chart will be subject to general conditions of contract related to the extension of time. A weekly progress of site shall be submitted in writing to the department.

5 PERFORMANCE BOUND CONTRACT

The contract shall be a performance bound contract and therefore the contractor shall makes his independent checks for Mounting, selection of equipment, etc. The drawings enclosed with the bid documents are only tentative and for guidance for bidding purposes. The details or execution drawings shall be prepared and submitted for approval to the department by the successful contactor to suit the requirement pertaining to site conditions.

6 TRAINING OF PERSONNEL

The contractor shall impart training to the departmental staff free of cost during erection and commissioning of the plant

7 GUARNTEE

The contractor shall guarantee the complete system & equipments for a period of 12 months from the date of satisfactory handing over of the plant as certified by the department for fault/ bad workmanship, manufacturing defects in equipments etc. The Bidder shall guarantee the System to maintain the sound quality on the basis of Design/ Scheme. They shall also guarantee that the performance of the various equipments individually and jointly and shall not be less than the specified rating when working under operating conditions for the complete installation.

The commissioning of system shall be done by the contractor and all tests at site shall be conducted to confirm the bided specification should be submitted to the department for record.

9 REPAIR/ REPLACEMENT OF PARTS DURING GUARENTEE

Any defects or other faults which may appear within defect liability/guarantee period of twelve months from the date of handing over the system in a satisfactory working conditions to the department arising in the system due to material or workmanship should be corrected and replace with parts of original specifications and makes by the contractor at his own cost.

Security deposit will be returned to the contractor after 12 month from the date of finalization of work and successful operation of the system as judged by the department.

11 POWER SUPPLY FOR ERECTION PURPOSES

The contractor shall make his own necessary arrangements for power supply required for erection purposes by applying to JVVNL for a separate connection at his own cost or through his own DG set.

- 12 The contractor shall have to submit original voucher/ bills of various items to be used in execution of work.
- The Octagonal Poles will be dispatch after issuance of certificate from JDA Engineer that the material is fit for dispatch, even after receiving the ornamental poles at site JDA reserve the right to send the material to any Govt. / Semi Govt. / Private lab for testing and if the pole is not found as per specification, the bidder will require to replace the complete material at his own cost.
- All the materials to be used for electrification work must be inspected by Engineer-incharge or any nominated Engineer of J.D.A. at Factory/ Laboratory before dispatch to the site at the cost of contractor. The contractor shall have to inform seven days in advance for the inspection.

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)
J.D.A., Jaipur

3. SPECIAL CONDITIONS

SCHEDULE 'H'

- 1. If there is any typographical error or otherwise in the 'G' Schedule the rate given in the relevant BSR on which Schedule 'G' has been prepared, shall prevail.
- 2. The contractor shall follow the contractor labour regulation and abolition Act 1970 & Rule1971.
- 3. The JDA shall have right to cause an audit technical examination of the work and the final bills of the contractor including all supporting vouchers, abstract etc. to be made within two years after payment of the final bills and if as a result such audit any amount is found to have been over paid / excess in respect of any work done by the contractor under the contract or any work claimed by him to have been done under this contract and found not to have been executed the contractor shall be liable to refund such amount and it shall be lawful for the JDA to recover such sum from him in the manner prescribed in special condition no. 8 or any other manner legally permissible and if it is found that the contractor was paid less then that was due to him under the contract in respect of work executed by him under it, the amount of such under payment shall be paid by the JDA to the contractor.
- 4. The contractor shall not work after the sunset and before sunrise without specific permission of the authority Engineer.
- 5. Wherever any claim against the contractor for the payment of a sum of money arises out of under the contracts, the JDA shall be entitled to recover the sum by appropriating in part or whole of the security deposit of the contractor, In the event of the security being insufficient or if no security has been taken from the contractor then the balance of the total sum recoverable as the case may shall be deducted from any sum then due or which at any time there contract with the JDA should this sum be sufficient to recover the full amount recoverable. The contractor shall pay to JDA on demand the balance remaining due. The JDA shall further have the right to affect such recoveries under P.D.R. Act.
- 6. The rate quoted by the contractor shall remain valid for a period of 4 (Four) months from the date of opening of the bids.
- 7. By submission of this bid the contractor agree to abide with all printed conditions provided in the PWD manual from 64 (Chapter 3-para 36) and subsequent modification.
- 8. No conditions are to be added by the contractor and conditional bid is liable to be rejected.

- 9. All transaction in this execution of this work and this bid will be liable to Sale-Tax vide section. 2(B) read with sub-clause (4) Sale-tax Rule, 1954.
- 10. If any bidder withdraws his bid prior to expiry of said validity period given at S.No. 7 or mutually extended period or makes modifications in the rate, terms and conditions of the bid within the said period which are not acceptable to the department or fails to commence the work in the specified period, fails to execute the agreement and fails to furnish performance guarantee the department shall without prejudice to any, other right or remedy, be at liberty to forfeit the amount of earnest money given in any form absolutely. If any contractor, who having submitted a bid does not execute the agreement or start the work or dose not complete the work and the work has to be put to rebidding he will stand debarred for 6 Months from participating of bidding in JDA in addition to forfeiture of Earnest Money / Security Deposit and other action under agreement.
- 11. The contractor shall arrange his own machinery required for the work such as Bitumen Mixer, Hot Mix plants and paver, road roller, Tar boiler, sprayer etc.
- 12. The contractor shall arrange his own storage tanks up to 10 Tones capacity for storage of bulk bitumen wherever supplied by the department.
- 13. Rules regarding enlistment of contractor provide that work up to the times limit for which they are qualified for biding can be allotted to them, Therefore, before biding the contractor will keep this in mind, and submit the details of the work. Bids with incomplete or incorrect information are liable to be rejected.
- 14. Any material not conforming to the specifications collected at site have to be removed by the contractor within a period of 3 days of the instruction, issued by do Engineer -In charge in writing failing which, such material shall be removed by the Engineer-In charge at risk and cost of the contractor after expiry of 3 days period.
- 15. The material collected at site and paid provisionally shall remain under and ward of the contractor till it is consumed, fully on the work.
- 16. The rates provided in bid documents are inclusive of all Taxes and royalty.
- 17. For paver work at lest 3 road rollers shall be simultaneously deployed.
- 18. No extra lead of earth/material shall be paid over and above as specified in 'G' Schedule Source/borrow pit area for earth shall have to be arranged by the Contractor at his own cost.
- 19. Undersigned has full right to reject any or all bids without given any reasons.
- 20. Mortar of Masonry work and lean concrete will be permitted mixer with hopper.
- 21. As per Supreme Court decision "All contracts with Governments shall require registration of workers under the building and other construction workers (Regulation of

- Employment and Conditions of Service) Act, 1996 and extension of benefits to such workers under the act.
- 22. Special Conditions of Contract regarding Defect Liability Period (DLP) for Roads works costing Rs. 25.00 laces and more shall be applicable
- 23. The bidders are required to submit copy of their enlistment as contractor.
- 24. Conditions of RPWA-100 will be mandatory & acceptable to the contractor.
- 25. Any bid received with unattested cutting/ overwriting in rates shall be rejected and such bidder will be debarred from biding for three months in JDA.
- 26. All the provision of THE RAJASTHAN TRANSPARENCY IN PUBLIC PROCUREMENT ACT 2012 and Rules, 2013 will be applicable. If there is any contradictions in existing special conditions and provisions of THE RAJASTHAN TRANSPARENCY IN PUBLIC PROCUREMENT ACT 2012 and Rules 2013 provision of THE RAJASTHAN TRANSPARENCY IN PUBLIC PROCUREMENT ACT 2012 and Rules 2013 shall be applicable.

SIGNATURE OF CONTRACTOR WITH FULL ADDRESS:

EXECUTIVE ENGINEER (Elect.-IV)

JDA JAIPUR

JAIPUR DEVELOPMENT AUTHORITY, JAIPUR

Special Terms & Conditions for Electrification work.

1. The Contractor has to give the performance guarantee of the following materials for the period mentioned against them from the date of completion of work:

(a)	Transformers	30 Months
(b)	All types of Insulators	18 Months
(c)	ACSR Conductors	6 Months
(d)	Isolators	6 Months
(e)	Horn gap fuse set	6 Months
(f)	LT Pillar Box	6 Months
(g)	All types of HT/LT cables	18 Months

- 2. The Contractor has to arrange for the permission for the charging of electrical system from the Electrical Inspector Govt. of Rajasthan. He will have to deposit the necessary fees, which shall be reimbursed by Jaipur Development Authority.
- 3. The contractor will coordinate for the system handing over and charging process and if any defects, is pointed out by the RSEB/JVVNL, then he will have to rectify the same.
- 4. The final bill shall be paid after the lines and substations are handed over to RSEB/JVVNL and system is charged.
- 5. Inspection shall be bear by the contractor it self.
- 6. The material shall be purchased from the firms, which are also supplying the material to RSEB/JVVNL.
- 7. All HT/LT cables should be sequentially marked with cable size, IS Code, grade, manufacturer name & length at every per meter duly embossed.
- 8. The contractor shall return unused material issued to him by the deptt. If desired by the Engineer in-charge and in case, of failure to do so he shall be charged for such unreturned material at double the issue rate including storage and supervision charges or the market rate whichever is higher. The basis of the theoretical consumption and allowing for wastage @ 5% at double the issue rate including storage and supervision charges or market rate which ever is higher.
- 9. The contractor shall be fully responsible to follow safety code as per IS 3764:1992 (upto date). The work should be executed without damaging existing water pipe line, LT/HT electric under ground cable, poles, existing surface drain, water connections, Telephone cables etc. In case of any damages the penalty/ liability imposed for such work shall be borne by the contractor and shall be got repaired immediately by arranging material/ labour/ assistance etc. In case of delay JDA reserve right to execute/ get executed the work at the cost and risk of the contractor.
- 10. It is a mandatory condition that contractor will get all insulated material tested from CTL of JVVNL or other specified NABL accredited agency by JDA before using it at site.
- 11. The contractor or his authorized representative shall intimate in advance along-with complete programme of erection & commissioning where ever shunt down of existing line is required, to the Nodal officer / Engineer In-charge of the site for arranging shut downs. The contractor shall have to plan the work in such a way that in minimum duration of shut down maximum work is carried out to avoid repeated and / or longer duration shut downs.

Signature & Seal of the Contractor

4-INSPECTION AND TESTING AT MANUFACTURER'S PREMISES

- 1. The test of the material and workmanship shall be conducted by the JDA/JVVNL Engineers as necessary. The result of such tests should confirm to be standard laid down in the Indian standards and or the standards laid down in the detailed specification of the JVVNL/. Public Works.
- 2. Proper quality control is required to be maintained by the contractor. Qualified personnel's having a degree in engineering or as required under the contractor enlistments rules duly approved by the Deptt. Shall have to be engaged at site by the contractor. The Deptt. Reserves the right to engage such staff and recover the expenses from the contractor on such account in case of his failure to do so.
- 3. The GTP of the material to be used by the contractor shall be submitted 21 days in advance with the Engineer In charge and be got approved by him before use.
- 4. All inspection and testing shall be carried out in accordance with the Specification and in absence of Specification relevant Indian Standard or internationally approved equivalent standard. After award of contract, Bidder shall furnish QA plan which will be mutually discussed with the Owner and finalized QA plan shall include test and incoming supply of raw materials and bought out items, stage inspections and tests on finished products at manufacturer's works / appropriate testing station. QA plan shall clearly indicate tests which are intended to be witnessed by the Bidder alone and those by both Bidder and Owner.
- 5. The Contractor shall carry out wherever practical, at the place of manufacture tests of the Plant / Equipment.
- 6. The Owner shall be entitled to attend the aforesaid inspection and / or tests by his own duly authorized and designated representatives.
- 7. The Owner and his duly authorized representative shall have access to the Contractor's premises at all suitable times to inspect and examine the material and workmanship of the mechanical and electrical plant and equipment during its manufacture there. If part of the plant and equipment is being manufactured on other premises, the Contractor shall obtain permission for the Owner or his duly authorized representative, to inspect as if the plant and equipment was manufactured on the Contractors own premises. Testing (including testing for chemical analysis and physical properties) shall be carried out by the Contractor and certificates submitted to the Owner who will have the right to witness or inspect the above mentioned inspection / testing at any stage desired by him. Where inspection or testing is to be carried out at a subcontractor's works, a representative of the Contractor shall be present.
- 8. The procedure for the testing and inspection to be carried out during or following the manufacture of the materials to ensure the quality and workmanship of the materials and to further ensure that they conform to the Contract is whatever place they are specified shall be as described below.
 - (a) The Contractor shall give the Owner at least 21 clear days notice in writing of the date and the place at which any plant or equipment will be ready for inspection/ testing as provided in the Contract. The Owner or his duly authorized representative shall thereupon at his discretion

notify the Contractor of his intention either to release such part of the plant and equipment upon receipt of works test certificates or of his intention to inspect. The Owner shall then give notice in writing to the Contractor, and attend at the place so named the said plant and equipment which will be ready for inspection and/or testing. As and when any plant shall have passed the tests referred to in this section, the Owner shall issue to the Contractor a notification to that effect.

- (b) The Contractor shall forward to the Owner duly certified copies of the test certificates and characteristics performance curves for all equipment.
- (c) If the Owner fails to attend the inspection and/or test, or if it is agreed between the parties that the Owner shall not do so, then the Contractor may proceed with the inspection and/or test in the absence of the Owner and provide the Owner with a certified report of the results thereof as per (b) above.
- (d) If any materials or any part of the works fails to pass any inspection / test, the Contractor shall either rectify or replace such materials or part of the works and shall repeat the inspection and/or test upon giving a notice as per (a) above. Any fault or shortcoming found during any inspection or test shall be rectified to the satisfaction of the Owner before proceeding with further inspection.
- (e) Where the plant and equipment is a composite unit of several individual pieces manufactured in different places, it shall be assembled and tested as one complete working unit, at the maker's works or at site as mutually agreed by the Owner and Contractor.
- (f) Neither the execution of a inspection test of materials or any part of the works, nor the attendance by the Owner, nor the issue of any test certificate pursuant to (c) above shall release the Contractor from any other responsibilities under the Contract.
- (g) The test equipment, meters, instruments etc., used for testing shall be calibrated at recognized test laboratories at regular intervals and valid certificates shall be made available to the Owner's at the time of testing. The calibrating instrument used as standards shall be traceable to National/International standards. Calibration certificates or test instruments shall be produced from a recognized Laboratory for the Owner's consent in advance of testing and if necessary instruments shall be recalibrated or substituted before the commencement of the test.
- (h) Items of plant or control systems not covered by standards shall be tested in accordance with the details and program agreed between the Owner and Contractor.
- (i) Tests shall also be carried out such that due consideration is given to the Site conditions under which the equipment is required to function. The test certificates shall give all details of such tests.
- (j) The Contractor shall establish and submit a detailed procedure for the Inspection of materials or any part of the works to the Owner for approval within the date indicated in the Programme Details. The detailed procedure shall indicate or specify, without limitation, the following:
- (i) Applicable code, standard and regulations
- (ii) Fabrication sequence flow chart indicating tests and inspection points
- (iii) Detailed tests and inspection method, indicating tests and inspection points

- (iv) All routine tests shall be carried out as per relevant Indian Standard specifications and will be witnessed by the Owner,
- (v) Acceptance criteria
- (vi) Test report forms and required code certificates and data records
- (vii) Method of sampling, if any sampling test to be conducted
- (viii) Contractor's or Owners witness points.
- (k) The Contractor shall not pack for shipment any part of the Plant until he has obtained from the Owner or his authorized representative his written approval to the release of such part for shipment after any tests required by the Contract have been completed to the Owner's satisfaction.
- (l) The contractor shall be liable to bear all the expenses to carry out the inspection at the manufacture works.

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)
J.D.A., Jaipur

5-MINIMUM SAFETY RULES

The following are Minimum Safety Rules that apply to all contractors and subcontractors associated with this project. All project personnel have a duty and responsibility to ensure familiarization with project safety requirements and to comply with all requirements established by their employer.

- 1. **REPORTING HAZARDS**: It is part of each employee's job to report all unsafe conditions/practices to his immediate supervisor for corrective action.
- 2. **BASIC PERSONAL PROTECTION** for this project includes:
 - a) Safety Hats of the approved type which meet Indian Standard shall be worn while on construction sites (hats shall not be Pressed or altered in any way as to make them defective). Hard hats shall be worn the way they are intended to be worn. Metal hard hats are prohibited.
 - b) Industrial grade safety glasses with side shields meeting ANSI standards Z-87 or equivalent Indian Standards will be worn by all personnel. This also applies to all persons wearing prescription glasses. Additional eye protection may be necessary for various work activities such as grinding, chipping, drilling, chemical handling, etc.
 - c) Hearing protection will be worn at posted high-noise areas or work activities generating high-noise levels.
 - d) Shirts are required when working on a construction site. All shirts will have sleeves. Sleeveless shirts are not permitted.
 - e) Full length trousers are required and must fit properly. Loosely fitting clothing will not be worn.
 - f) Safety shoes or safety boots will be worn in the construction area at all times. No sneakers, open-toed shoes or tennis shoes are allowed. All shoes will be suitable to the construction environment.
 - g) Gloves will be worn when handling materials that may cut, tear or burn hands. Gloves will be in good condition and free of excessive oil or grime.
- 3. **RESPIRATORS:** Persons engaged in work activities requiring breathing apparatus or respirators will be test-fitted to ensure a proper seal and fitting.
- 4. **FALL PROTECTION:** Safety Belts/Harnesses shall be worn and used when working at two meter heights (or greater), where approved platforms, ladders, or scaffolds are not provided. Lanyards will be no more than six feet in length. Horizontal or vertical lifelines will be provided and used where no tie-off points are provided. Belts/Harnesses shall be

- worn properly. All fall protection equipment will be inspected for defects by the user before each use. Defective or questionable protection equipments shall not be used.
- 5. **INJURIES:** All persons must report all injuries to their supervisors and obtain first aid (regardless of degree of severity) at the contractor's first aid facility. Each accident must be documented on the Accident Notification Report.
- **6. SMOKING:** Smoking within an establish NO SMOKING AREA is strictly prohibited and is sufficient cause for immediate removal of the person found smoking from the site.
- 7. **ELECTRICAL EQUIPMENT**: Personnel (except electricians), assigned to work on or around specific electrical jobs, will stay clear of all electrical equipment until it is proven safe by qualified electrical personnel.
- 8. **UNAUTHORIZED USE:** The unauthorized operation of any tool, equipment, switch, vehicles, valves, etc. is strictly prohibited.
- 9. MAKESHIFT DEVICES: Personnel will not fabricate or use makeshift devices such as lifting devices, tools, etc. Specialized tools/equipment are often necessary, but will be properly designed and tested by authorized engineering personnel before use. The modification of tools/equipment or the overriding of safety devices will not be tolerated.
- 10. TRUCK RIDING: Riding in the bed of trucks is prohibited unless seating arrangements conform to client requirements. Personnel are forbidden to ride on loaded trucks, fenders, running boards, sideboards, tailgates, etc.
- 11. **SEAT BELTS**: All personnel riding in vehicles will fasten seat belts before the vehicle is placed in motion.
- 12. **HORSEPLAY**: Running, practical jokes, etc. prohibited. Fighting is sufficient cause for immediate dismissal. "Short cutting" of established safe practices or deliberate chancetaking is strictly prohibited.
- 13. **WORK PERMITS**: If work to be carried out requires a permit, the permit must be obtained before work commences.
- 14. **EMERGENCY PROCEDURES**: It is part of everyone's job to thoroughly know plant emergency procedures, emergency alarms, location of assembly areas, etc.
- 15. **WORKING POSITION**: Personnel must always ensure safe working positions. Any person to position himself between a fixed object and a moving piece of equipment is extremely hazardous. Never place yourself between objects which could roll, shift, fall or be displaced. Stay alert to conditions around you at all times.
- 16. **SAFE & PRESCRIBED METHODS**: All tools and equipment, including motor vehicles will be operated in a safe and prescribed manner at all times. If any person is not sure of

- the proper method of tool/equipment use, he must immediately inform his supervisor for the person to receive proper direction.
- 17. **INSTRUCTIONS FROM SUPERVISORS**: Supervisors are responsible for strict compliance and enforcement of project and client safety rules and regulations, and to ensure that workers are made knowledgeable of requirements. All personnel are required to follow instructions from their immediate supervisors. If instructions are not clear or are confusing, the employee has a responsibility to question the supervisor and obtain clear instructions before commencement of work.
- 18. **CO-OPERATION AND TEAMWORK**: It takes co-operation and teamwork to complete construction projects in a safe, efficient and timely mariner. All project personnel are expected to render complete co-operation in the administration and enforcement of the project Safety Program.
- 19. **CAMERAS:** Employees must not, under any circumstances, bring cameras onto the work site or use a camera on the work site without written approval of Engineer-In-Charge.
- 20. DRUGS/ALCOHOL: The use of illegal drugs and alcohol is strictly prohibited and is cause for immediate removal of the person who is found to be under influence of such drugs / alcohol from the site.
- 21. **DISCIPLINARY ACTION**: Disciplinary action will be taken against persons violating the stipulations. Serious infractions and/or repeat offenders will be dealt with severely, up to and including permanent removal from the project.
- 22. **RESPONSIBILITIES**; All persons have a responsibility to themselves and their coworkers to be physically fit and mentally alert at all times. Conditions on a construction site are always in a state of change. Personnel must be able to react accordingly.
- 23. LADDERS AND SCAFFOLDS: All ladders and scaffolding shall be of the approved type. Ladders and scaffolding not meeting standards shall be removed from service. Ladders and scaffolding shall meet Indian Safety Standards or British Standards whichever is more stringent.

LADDERS:

- a) Ladders shall be inspected prior to use. Defective ladders shall be removed from service.
- b) Ladders used near energized lines or equipment shall be made of non-conductive materials (wood, fiberglass, etc.)
- c) Ladders shall be placed on solid footing. They shall not be placed on unstable objects such as loose bricks.

- d) Employees shall not carry tools, materials, or objects while climbing ladders. Employees shall face the ladder while climbing and avoid leaning from side to side and away from the ladder.
- e) Employees working from ladders shall wear and utilize proper fall protection equipment.
- f) Straight and extension ladders must be secured at the top when in use. Ladders not in use should be removed from the vertical position.
- g) Ladders must be placed at an angle not to exceed one foot of run for every four feet of rise.
- h) Ladders must extend above their upper support or landing by at least 3 feet.
- i) Step ladders must be secured or held when in use.
- j) Employees shall not work from the top step or next to the top step of step ladders.

SCAFFOLDS:

- a) Employees shall not erect, alter or dismantle scaffolds unless directed by a competent person.
- b) Scaffolds shall be erected, should be in plumb, and on sound foundation. Loose bricks, unstable stacks of lumber, etc. shall not be used to level or support scaffolds.
- c) Scaffold materials shall be free of defects.
- d) Work platforms shall be completely decked. (The decking should overhang its end supports at least 6 inches but not more than 12 inches. The decking shall be secured in place).
- e) Work platforms shall be equipped with standard handrails, midrails, and toe boards when 2 meters or more in height.

24. EXCAVATIONS:

- a) When deeper than 5 feet, excavations shall be sloped or shored to prevent cavingin.
- b) Excavations must be barricaded and barricades shall be maintained till back filling is completed.
- c) Excavated earth and any equipment shall be kept at least 2 feet from the edge of excavations.
- d) Access ladders shall be placed within a distance of 25 feet of location of working in excavations of 4 feet deep or deeper.

25. CONFINED SPACE OR VESSEL ENTRY:

- a) Employees shall not enter any confined space unless it has been tested for oxygen contents, absence of flammable gases and/or substances, or any other hazardous materials, and a written permission has been issued.
- b) A man way watch trained in his duties shall be present at any time when personnel are inside confined spaces or vessels.
- c) Portable or hand-held lighting should not exceed 12 volts power source.
- d) Positive ventilation (air movers of fans) shall be used to provide exchange of fresh air in confined spaces and vessels.

26. TAG-OUT, LOCK-OUT PROCEDURES:

- a) Employees shall not perform any work including repair, changes, attachments on electrical circuits, equipment, or mechanical equipment unless the power supply or source of said equipment is positively disconnected or shut off and the concerned electrical department employee places his lock and tag on the disconnect.
- b) Only electrical personnel shall be involved in energizing & de-energizing electrical circuits and equipment.

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)
J.D.A., Jaipur

6-Guarantee

1. General

The guarantee is applicable for the performance of individual equipment as well as overall performance of the Project.

In case of any contradiction given in this section with respect to those mentioned elsewhere in this document the below mentioned clauses shall prevail.

2. Manufacturer's Guarantees

The manufacturer's guarantee for design, workmanship and performance for all bought out items shall be made available to the owner and shall be valid at least for the entire defects liability period. In the event of failure of any particular equipment which fails more than three times during the guarantee period as mentioned in clause below, the contractor shall replace at his own cost that equipment. Manufacturer's / Contractor's guarantee, for such replaced equipment shall also be made available to the Owner and should be kept at least for one year from the date of last replacement.

3. Performance Guarantee for Electrical Systems

The Contractor shall give guarantee for a period of one year from the date of successful commissioning of the Electrical system against design, defective materials, workmanship and performance. The contractor shall give guaranteed for HV and MV Panel and performance, quality of cables, luminaries, DB's, Utility sockets as indicated in the bid and as agreed between the owner and contractor before award of contract. Any defects found in the workmanship, materials or performance of the unit shall be made good by the Contractor at his own expense within the time specified by Engineer-In-Charge.

In case the parameters vary from what is required, the Contractor shall rectify the equipment at no extra cost so as to achieve the requisite performance guarantee and satisfy commissioning of the equipment to the Engineer-In-Charge. In case the Contractor fails to achieve any of the aforesaid guarantees he will be penalized by an amount as per rule up to 10% (ten percent) of the total contract value. For this purpose any money due to the Contractor shall be forfeited and adjusted against such penalty.

4. Equipment Guarantee

The Contractor shall guarantee for the period of one year from the date of successful commissioning of the Electrical System against defective performance of all equipment / instruments / mechanical or electrical parts under Contractor's scope of supply. Any

defects found either in materials or workmanship shall be made good by the Contractor at his own expense within the time specified by the Engineer-In-Charge.

5. Testing and Trial Run

The contractor shall have to try test each process equipment used for the Electrical System for about 48 hours continuous running to the full satisfaction of the Engineer-In-Charge. After satisfactory testing of the individual equipment, the Contractor shall run the whole Electrical System at no extra cost to the owner for at least 30 days as directed by the Engineer-In-Charge and ensure the treated waste water quality. Necessary instruments, gauges, supervisory personnel etc. shall be furnished / provided by the Contractor free of cost for conducting the trial runs.

6. Commissioning and Handing Over

During trial runs as described above, the Contractor shall satisfy the Engineer-In-Charge in all respects regarding the satisfactory quality of materials; equipment and workmanship used in the Electrical System and guaranteed parameters. Only after satisfying himself, regarding the above points, the Engineer-In-Charge will issue the completion certificate and take over the Electrical System and such date of taking over shall be deemed as date of commissioning. The Defects Liability Period described above will start from this date.

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)
J.D.A., Jaipur

7-ERECTION, TESTING AND COMMISSIONING

1. ERECTION - GENERAL

- 1.1 The Contractor's staff shall include adequate and competent erection Engineer with proven, suitable, previous experience on similar contracts to supervise the erection of the Works and sufficient skilled, semi-skilled and unskilled labour to ensure completion of Works in time. The Contractor shall not remove any representative, erector or skilled labour from the Site without prior approval of the Owner.
- 1.2 The Contractor shall ensure that no installation or erection work shall commence until full and unconditionally approved working drawings, signed and stamped by the Owner are available at Site.
- 1.3 The Contractor's erection staff shall arrive on the Site on dates to be agreed by the Owner. Before they proceed to the Site, however, the Contractor shall first satisfy himself, as necessary, that sufficient Electrical System of his (or his sub-contractor's) supply has arrived on Site so that there will be no delay on this account.
- 1.4 One erection engineer who shall be required to be the Contractor's representative shall be conversant with the erection and commissioning of the complete Works. Should there be more than one erector, one shall be in charge and the Contractor shall inform the Owner in writing which erector is designated as his representative and is in charge. Erection engineer is to report to Project Manager.
- 1.5 The Contractor shall be responsible for setting up and erecting the Electrical System to the line and levels of reference and of the positions, levels dimensions and alignment, appliances and labour in connection therewith. The checking of setting out of any line or level by the Owner shall not in any way relieve the Contractor of his responsibility for the correctness thereof.
- 1.6 Erection of Electrical System shall be phased in such a manner so as not to obstruct the work being done by other contractors or operating staff who may be present at the time. Before commencing any erection work, the Contractor shall check the dimension of structures where the various items of Electrical Systems are to be installed and shall bring any deviations from the required position, lines or dimensions to the notice of the Owner. Electrical System shall be erected in a neat and workmanlike manner on the foundations and at the locations shown on the approved drawings. Unless otherwise directed by the Owner, the Contractor shall adhere strictly to the aforesaid approved drawings. If any damage is caused by the Contractor during the course of erection to new or existing

- Electrical System or buildings or any part thereof, the Contractor shall, at no additional cost to the Owner, make good, repair or replace the damage, promptly and effectively as directed by the Owner and to the Owners satisfaction.
- 1.7 The Contractor shall align all equipment and holding down bolts and shall inform the Owner before proceeding with grouting-in. the items concerned. The Contractor shall ensure that all equipment is securely held and remains in correct alignment before, during and after grouting-in.
- 1.8 The approval by the Owner of the Contractors proposals for rigging and hoisting any items of the Electrical System into final positions shall not relieve the Contractor from his responsibility for damage to completed structures, parts or members thereof or other installed equipment. He shall at his own cost make good, repair or replace any damaged or injured items, whether structural, electrical, architectural, or of any other description, promptly and effectively to the satisfaction of the Owner.
- 1.9 No Electrical Systems or other loads shall be moved across the floors of structures without first covering the floors with timber of sufficient size so that applied loads will be transferred to floor beams and girders of steel or concrete. If it is required to reduce bending stresses arid deflection, the beams and girders shall be provided with temporary supports. Any movement of Electrical System and other loads over the floor structures shall be subjected to the prior approval of the Owner.
- 1.10 During erection of the Electrical System, the Owner will inspect the installation from time to time in the presence of the Contractor's Site representative to establish conformity with the requirements of the Specification. Any deviations and deficiencies found or evidence of unsatisfactory workmanship shall be corrected as instructed by the Owner.

2 LEVELING AND GROUTING OF MACHINERY

- 2.1 Contractor shall check the civil works, where the Electrical System is to be installed sufficiently in advance, for their conformity to the approved drawings for installing the Electrical System with respect to lines, levels and accuracies of positions embedment, anchorage pockets, cut-outs etc. He shall record all measurements and deviations in prescribed control formats. He shall proceed with the work, with the Owners consent to such preparatory inspection of works.
- 2.2 Contractor shall mark precisely the centre lines and datum reference on the civil works, where the Electrical System is to be installed with reference to bench marks, using indelible means of marking.
- 2.3 He shall undertake sufficiently in advance chipping of any unevenness of concrete on foundations, anchor bolt pockets, cut-outs etc., to achieve uniform level of reference for

- erection. All concrete surfaces receiving grout shall be hacked as required to ensure better bonding with grouting.
- 2.4 Contractor shall undertake the inspection of all components to be erected sufficiently in advance to check their soundness and conformity to drawings and the inspection records shall be signed by the Owner as approval for undertaking the installation of the components. Any damage, shortfalls etc. shall be made good to the satisfaction of the Owner.
- 2.5 All grout for equipment shall be carried out using non-shrinkable continuous grout materials with suitable framework of at least 12 mm thickness. Surfaces to receive the grout shall be hacked and roughened and laitance shall be removed by wire brushing or blast of air. Concrete surface shall be blown off by compressed air before commencing grouting. Grouting shall be done in one continuous operation from one side such that grout flows in a single wave until grout reaches all confined spaces with no air pockets and air from all confined spaces is expelled. A hydrostatic head of 150 mm shall be maintained during grouting operations hydrostatic head of 150 mm shall be maintained during grouting operations. All grouting shall be carried out in the presence of the Owner. All lines and levels shall be checked up after grout is set. Block outs shall be closed using cement concrete of the same grade as that of the parent structure.

3. RECORDS, PROCEDURES AND REPORTS

- 3.1 The Contractor shall maintain records pertaining to the quality of installation/erection work and inspection, testing, compliance with all technical requirements in respect of all his works as described in the previous paragraphs. The reporting formats shall be in the approved formats. The Contractor shall submit such records to the Owner after the completion of any particular work before submitting the bill of supply/progress of work. Such report shall comprise shop inspection reports, shop testing reports, material test reports, based on which dispatch clearances are provided, all the quality control reports of welding, erection and alignment records.
- 3.2 All the above mentioned records shall be submitted in the final form duly countersigned by the Owner attesting conformity to specifications and his approval of installation, and duly incorporating all the additions, alterations, and information as required by the Owner, on the basis of preliminary reports giving the progress of the work. Such records notwithstanding, any records submitted earlier with bill of supply/progress etc., shall be duly bound and submitted to the Owner in six copies by the Contractor on his notification of the Electrical completion of erection.

4. GENERAL PREPARATIONS BEFORE COMPLETION OF THE ELECTRICAL SYSTEM

- 4.1 The following documents should be completed in accordance with the Contract schedule before completion of erection. The Owner and the Contractor shall preserve and control these documents in a safe and appropriate place on Site in order that both parties' personnel can make use of them at any time.
- (a) Technical Documents
 - (i) Operation and Maintenance manual
 - (ii) Design documents including the Contractor's design data, drawings and Specifications.
 - (iii) Tools and test equipment list
 - (iv) Spare parts list
- (b) Procedures
 - (i) Mechanical testing procedure
 - (ii) Electrical testing procedure
 - (iii) Instrumentation testing procedure
 - (iv) Detailed Pre-commissioning and Commissioning procedure
 - (v) Detailed Performance Test procedure

5. COMPLETION OF ERECTION

- 5.1 The completion of Electrical System under erection by the Contractor shall be deemed to occur, if all the units of the Electrical System are structurally and electrically complete and will include among other such responsibilities the following:
- (a) Electrical System in the Scope of the Contract has been erected, installed and grouted as per specifications.
- (b) Installation checks are completed and approved by the Owner
- (c) The erected Electrical Systems are totally ready for commissioning checks.
- 5.2 At the stage of completion of erection, the Contractor shall ensure that all the physical, aesthetic and workmanship aspects are totally complete and the Electrical System is fit and sound to undergo tests on completion and subsequent pre-commissioning checks.
- 5.3 Upon achieving the completion as described above, the Contractor shall notify the Owner by a written notice intimating completion of erection and notify the Owner for inspection.

 The Owner shall proceed with the inspection of such units within 14 days of such a notice.
- (a) The Owner shall certify completion when there are no defaults in the Works or
- (b) The Owner shall inform the Contractor list of deficiencies for rectification hereinafter referred as Punch list and the Contractor shall complete the rectification work within a

- jointly agreed period before pre-commissioning activities and obtain the Owner's acceptance or approval of the same before proceeding with the same.
- (c) The Owner may inform the Contractor that the works are accepted with the 'Punch' list (items which do not hamper operability safety or maintainability) and allow the Contractors to proceed with the pre-commissioning checks when the Contractor undertakes to complete such outstanding works within an agreed time during defects liability period. Taking over shall be based on rectification of all deficiencies as advised by Punch lists.
- The erection period indicated by the Contractor would be deemed to cover all the activities up to Completion as stipulated in previous paragraphs, notice of completion by the Contractor, inspection by the Owner for Completion, and Contractor rectification of all deficiencies as noticed by the deficiency/Punch list, and acceptance by the Owner of such rectifications, prior to Tests on Completion.
- 5.5 Minor defects, which in the opinion of the Owner which do not hamper operability and maintainability will nor be taken into account for deciding Electrical Completion. Such defects shall be rectified concurrent to commissioning checks before Tests on Completion. However, the Owner's decision in this regard is final.
- 5.6 The commissioning period as notified by the Contractor shall be deemed to occur beyond the date of Completion and shall include all periods of pre-commissioning, trials and Tests on completion.
- 5.7 It is in the Contractor's interest to offer the section/units/systems, progressively under the identified milestones within overall erection period, duly completed for rectification of any deficiencies pointed out by the Owner and to achieve Electrical Completion before undertaking the tests on Completion within the specified erection period. The Owner also reserves the right to withhold the cost as estimated to be equivalent to the rectification of deficiencies pointed out to the Contractor until such a time such deficiencies are rectified to the satisfaction to the satisfaction of the Owner.

6. PRE-COMMISSIONING

- 6.1 After the Completion of erection, Pre-commissioning activates listed below shall be carried out to make the Electrical System ready for Commissioning.
- 6.2 Upon completion of erection of each piece of equipment, facility or discrete part of the Electrical System, Electrical checks and tests shall be carried out according to the Contractor's checklist. The Electrical checks and tests shall be to establish that.
- (a) The Electrical System is erected in accordance with the Contractor's construction drawings, pipe work drawings, instrument diagrams, etc. issued for the Electrical System.

- (b) The materials are installed and electrically function in accordance with the Contract and
- (c) Applicable codes as listed in the Contract are followed for materials and workmanship.
- 6.3 Items such as painting, thermal insulation and final clean up which do not materially affect the operation or safety of the Electrical System will be excluded. All these items shall be listed and completed after the Pre-commissioning or Commissioning at the discretion of the Contractor, but before acceptance.
- 6.4 The Contractor shall prepare and maintain at Site test forms and records that shall include:
- (a) Description of type of test or check
- (b) Date and time of test or check
- (c) Identification of equipment and facilities
- (d) Test pressure, test data and results, including remarks, if any
- (e) Signature of the Contractor's personnel attesting to data recorded, if any.The Contractor's construction forces thereof shall carry out checks, tests and recording.
- 6.5 Wherever the Owner's witness or attesting of the check or test is required, the Owner's personnel shall attend such check and test. For this purpose, the Contractor shall keep the Owner informed of a day-to-day test plan schedule. The test plan schedule may be revised from time to time to reflect the actual progress of the work and test.
- 6.6 Any items found incomplete or requiring repair or adjustment shall be marked as such on the test records and then reported by the Contractor to the Owner and the Contractor's personnel in charge of the relevant construction area.
- 6.7 Checking procedures shall be repeated until all the items on the checklist are cleared
- 6.8 A complete set of test records shall be handed over to the Owner on completion.
- 6.9 The tests on the different Mechanical and Electrical equipment shall include but not limited to:
- (a) Pump motors

 Condition of winding insulation be tested and insulation values shall be restored to required level by suitable heating arrangements locally.
- (b) MV Switch board / Power Distribution Boards
- (i) Checking of all internal wiring for correctness as per supplier's drawings.
- (ii) Insulation resistance test.
- (iii) CT Polarity Test / PT Ratio Test.
- (iv) Operational check of instruments and testing of relays by primary / secondary injection.

- (v) Phase sequence test.
- (vi) Functional simulation test.
- (vii) Local & Remote Operation.
- (c) Power and Control Cables
- (i) All cores of cables shall be tested individually for continuity and insulation resistance with earth/sheath/armour as well as between the cores, before as well as after installation.
- (ii) Pressure test as per relevant IS will be carried out on all 11 kV cables together with joints.
- (d) Distribution Boards / Switch Socket Outlets
 - (i) Checking of wiring as per drawing.
 - (ii) Insulation resistance.
 - (iii) Functional test.
- (e) Tests for Earthing System
 - (i) The resistance of each earth pit shall be measured and recorded.
 - (ii) The resistance of the complete earthing system shall be less than 1.0 ohm or values specified by the local Electrical Inspector whichever is less.
 - (iii) Earthing continuity tests shall be carried out for all the equipment.

7. COMMISSIONING

- 7.1 After the completion of Pre-commissioning activities the final checks and preparations necessary for start-up of the Electrical System shall be carried out. The Contractor shall submit to the Owner a written Notice of Electrical Completion that shall include:
 - (a) Identity of a part of the Electrical System considered electrically complete
 - (b) A copy of relevant completed test reports
 - (c) The date on which the completion of the tests was achieved
 - (d) Check list and
 - (e) A request for issuance of a Electrical Completion Certificate in respect of that part.
- 7.2 Within fourteen (14) days from the date of receipt of the Contractor's written Notice, the Owner shall:
 - (a) In the case of acceptance, issue a Electrical Completion Certificate
 - (b) In the case of Objection, submit a rejection Statement setting forth remaining items to be completed or defects of deficiencies to be corrected before Electrical Completion status can be accepted. When the Owner rejects the Contractor's Notice the Contractor shall take any necessary action to complete or correct the items marked and give the Owner a second Notice of Electrical Completion.

- 7.3 After the issuance by the Owner of a Electrical Completion Certificate, Commissioning activities listed below shall be carried out to enable the start-up and operation of the Electrical System Procedures are described as below:
- (a) Commissioning Procedure shall be carried out in a methodical sequence as follows
 - (i) Warming up
 - (ii) Start-up
 - (iii) Initial rearming –
 - (iv) Operability adjustment
 - (v) Stable operation
 - (vi) Final adjustment
- (b) At all stages of commissioning sequence, the Electrical System shall be operated at optimum Electrical System conditions. To ensure this, the Contractor may make minor adjustment to the conditions indicated in the Operation and Maintenance Manual as necessary.
- (c) The Contractor shall check the operating conditions of the Electrical System by constantly monitoring operating data.
- (d) The Contractor shall specify for each discrete part of the Electrical System the operational data to be recorded and the manner in which the data is to be taken.
- (e) All the operating data shall be recorded by the Owner on the forms to be mutually agreed.

 The Owner shall make a copy of the operating log and analytical data from initial operation through to the completion of Performance Test available to the Contractor for evaluation.

8. PERFORMANCE TEST

- 8.1 After the final operation of the Electrical System, a Performance Test shall be carried out to demonstrate the Contractor's Performance Guarantee.
- 8.2 Prior to conducting Performance Test, the Contractor shall furnish the detailed Performance Test Procedure for approval.

- 8.3 Performance test shall be carried out by the Contractor's personnel according to the instructions set forth in the Contractor's Operation and Maintenance Manual and under the supervision of Owner's operating personnel.
- 8.4 Operating and analytical data recorded during Performance test shall be taken down by the Owner and made available to the Contractor for evaluation.

9. ACCEPTANCE

9.1 Acceptance will occur in any of the three following possible ways:

(a) Fulfillment of Guarantees

When Performance Test has been successfully completed and the Performance Guarantees are met.

(b) Deemed Acceptance

When Performance Test has not been completed or has not been carried out for reasons not attributable to the Contractor within specified date or other mutually agreed period.

10. The material to be utilized in execution of work shall confirm to the following Indian Standards (IS) which shall mean latest revisions, Amendments / changes and published unless otherwise specified herein before.

Sr.	Indian	Titles	
No.	Standard		
	s		
1.	IS-226	Structural Steel Standard quality	
2	IS-2062	Structural steel (fusion welding quality).	
3.	IS-802	Code of practice for use of structural steel in over head transmission line towers and part-I loads & permissible stresses.(first revision)	
4.	IS-808	Rolled steel beam, channel and angle sections and Part-I Dimensions for hot rolled steel beam Part-I MB series (second revision).	
5.	IS-4759	Hot dip zinc coating on structural steel and other allied products.	
6.	IS-6639	Hexagonal Bolts for steel Structure.	
7.	IS-10238	Step Bolts for steel structures.	
8.	IS-1367	Technical supply conditions for threaded fasteners.	
9.	IS-2016	Plain washers.	
10.	IS-4072	Steel for Spring washers	
11.	IS-3063	Single coil rectangular section spring washers for bolts, nuts and screws.(first revision)	
12.	IS-6821	Methods for sampling non threaded fasteners.	
13.	IS-1573	Electroplated coatings of zinc on iron and steel.	

14.	IS-2486	Insulator fittings for overhead power lines of 3.3 KV and above.		
15.	IS-2633	Method of testing uniformity of coating on Zinc coated article.(first revision)		
16.	IS-2121	Fittings for aluminium and steel cored aluminium conductor for overhead		
		power lines (with amendments No 1 to 3)		
17.	IS-731	Porcelain Insulators for overhead power lines with a nominal voltage greater		
		than 1000V.(second revision)		
18.	IS-2141	Galvanized Stay strand (first revision) (with amendments No 1 to 3)		
19.	IS-398	Part-I Aluminium conductor for overhead		
		Part-II Aluminium conductor, galvanized steel reinforced (second revision)		
		Part-III Aluminium conductor, Aluminium steel reinforced (second revision)		
20.	IS-4826	Galvanized coating on round steel wires.		
21.	IS-2551	Danger notice plate (with amendments No 1)		
22.	IS-2629	Recommended practice for hot dip galvanizing of Iron and steel.		
23.	IS-5358	Hot dipped galvanised coating on fasteners.		
24.	IS-5613	Code of practice for design, installation and maintenance of over-head power		
		line.		
		(Part-I Sec-I)- Lines upto and including 11 KV, section/design.		
		(Part-I Sec-II)- Lines upto and including 11 KV, section installation and		
		Maintenance.		
		Walledianee.		
25.	IS-6745	Method for determination of weight of zinc coating on zinc coated iron and		
		Steel articles.		
26.	IS-7215	Tolerance for fabrication of steel structures.		
27.	IS-8577	Specification for wieldable structures steel (medium and high tensile quality).		
28.	IS-338	Varnish ,under coating, exterior, natural resin		
29.	IS-800	Code of practice for use of structural steel in general building construction(
		Revised) with amendments No.1&2.		
30.	IS-3034	Code of practice for fire safety of Industrial building. Electrical generating and		
		Distributing stations.		
31.	IS-269	Ordinary and low heat Portland cement.		
32.	BS-16	Telegraph material (Insulator, pole fitting etc.)		
33.	BS-729	Hot dipped Galvanisation		
34.	IS-2427	Grading of continuous filament viscose rayon yarn and acetate yarn, bright		
		And dull.		

35.	IS-1363	Black Hexagonal bolts, nuts and lock nuts(dia meter 6 to 39mm) and black			
		hexagon screws(dia 6 to 24 mm) first revision with Amendment No.1)			
36.	IS-1852	Rolling & cutting tolerance for hot rolled steel products.			
37.	IS-1778	Reels and drums for bare wire(with Amendment No. 1 & 2).			
38.	IS-4218	ISO metric Screw Threads.(Part.I- Basic and design profiles, Part-II- Pitch			
		diameter combinations, Part.III- Basic dia mensions for design profiles,			
		Part.IV- Tolerancing system, Part. V- Tolerances, Part.VI- Limits of sizes for			
		Commercial bolts and nuts (dia meter range 1 to 39 mm).			
39.	IS-7887	Mild steel wire rod for general Engg. Purpose.			
40.	IS-280	Mild steel wire for general engineering purpose (Second revision).			
41.	IS-5300	Porcelain Guy Strain insulator			
42.	IS-5561	Electric power connectors.			
43.	IS-5	Colours for ready mixed paints (Second revision).			
44.	IS-3972	Methods of Test for vitreous enamel wire.			
45.	IS-4711	Methods for sampling of steel pipes, tubes and fittings.			
46.	IS-1599	Method for bend test for steel products other than sheet, strip, wire and tube(
		first revision)			
47.	IS-1678	Pre-stressed concrete poles for overhead power traction & Telecommunication			
		lines.			
48.	IS-8623	Methods for radio interference tests on high voltage insulators			
49.	IS-13947	Specification for low voltage switchgear & controlgear.			
50.	IS-14255	Aerial Bunched Cable for working voltages upto and including 400 V -			
		specification.			
51.	IS-8130	Conductor for insulated electric cables & flexible cords.			
52.	IS-5561	Electric power connectors.			
53.	IS-617	Aluminium and aluminium alloy ingots and casting for general engineering			
		purpose (second revision).			
54.	IS-2544	Porcelain post insulators for systems with nominal voltages greater than 1000			
		Volts (First revision) (with Amendment No.1).			
55.	IS-7098	LT XLPE insulated (Heavy Duty) electric cables.			
	-	•			

56.	IS-5831	PVC insulation and sheath of electric cables (with Amendments No. 1 to 3).
57.	IS-1239	Mild steel tubes, tubulars and other wrought steel fittings.
58.	IS-5039	Distribution piller for voltages not exceeding 1000 volts.

For 12Kv RMUs:

IEC 62271-200/IS 12729:1988	General requirement for Metal Enclosed Switchgear		
IEC62271-102/IS 9921	Alternating Current disconnector's (Load Break		
	Isolators) and Earthing Switch.		
IEC 62271-100 / IEC 62271-200	Specification for alternating current circuit breakers		
IEC 62 271-1	Panel design, SF6/Vacuum Circuit Breakers		
IEC60044-1/IS2705:1992	Current Transformer		
IEC 60265/IS 9920:1981	High voltage switches		
IEC 376	Filling of SF6 gas in RMU		
IEC 60273/IS :2099	Dimension of Indoor & Outdoor post insulators with		
	voltage > 1000 Volts		
IEC 60529/IS 13947(Part-1)	Degree of protection provided by enclosures for low		
	voltage switchgear and control gear.		
IS 3043-1987	Code of Practice for earthing		
Indian Electricity Rules/Bills			

For 33Kv VCBs

IEC56/IS:13118/IS-	Circuit
3427/IS:10118 (Part-III) –	Breaker/
1982/ IS:2165-1977/	metal
IS:3716-1976/ IEC-62271-	enclosed
	Switchgear
100/ IEC-62271-200	and control gear.
IS: 3156	Voltage transformers.
IS: 2705	Current transformers.
IS: 3231	Electrical Relays for power system.
	Meters and
IS:1248	Instruments

IS:14697-1999		Specification for AC static transformer operated watt hour
		and VAR hour meters class 0.2 S & 0.5 S.
IEC-62053-22-2003		Specification for AC Static Watt hour Meters, class 0.2 S &
IEC-62052-11-2003		
CBIP	Technical Report	Specification for AC Static Electrical Energy Meter.
No.304		

Signature of Contractor/Bidder

Executive Engineer (Elect-IV)

J.D.A., Jaipur

Annexure A: Compliance with the code of Integrity and No Conflict of Interest

Any person participating in a procurement process shall -

- (a) Not offer any bribe, reward or gift or any material benefit either directly or indirectly in exchange for an unfair advantage in procurement process or to otherwise influence the procurement process;
- (b) Not misrepresent or omit the misleads or attempts to mislead so as to obtain a financial or other benefit or avoid an obligation;
- (c) Not indulge in any collusion, Bid rigging or anti-competitive behaviour to impair the transparency, fairness and progress of the procurement process;
- (d) Not misuse any information shared between the procuring Entity and the Bidders with an intent to gain unfair advantage in the procurement process;
- (e) Not indulge in any coercion including impairing or harming or threatening to do the same, directly or indirectly, to any party or to its property to influence the procurement process;
- (f) Not obstruct any investigation or audit of a procurement process;
- (g) Disclose conflict of interest, if any; and
- (h) Disclose any previous transgressions with any Entity in India or any other country during the last three years or any debarment by any other procuring entity.

Conflict of Interest :-

The Bidder participating in a bidding process must not have a Conflict of interest. A conflict of interest is considered to be a situation in which a party has interests that could improperly influence that party's performance of official duties or responsibilities, contractual obligations, or compliance with applicable laws and regulations.

- i. A Bidder may be considered to be in Conflict of Interest with one or more parties in a bidding process if, including but not limited to:
- a. Have controlling partners/shareholders in common; or
- b. Receive or have received any direct or indirect subsidy from any of them; or
- c. Have the same legal representative for purposes of the Bid; or
- d. Have a relationship with each other; directly or through common third parties, that puts them in a position to have access to information about or influence on the Bid of another Bidder, or influence the decisions of the Procuring Entity regarding the bidding process; or
- e. The Bidder participates in more than one Bid in a bidding process. Participation by a Bidder in more than one Bid will result in the disqualification of all Bids in which the Bidder is involved. However, this does not limit the inclusion of the same subcontractor, not otherwise participating as a Bidder, in more than one Bid; or
- f. The Bidder or any of its affiliates participated as a consultant in the preparation of the design or technical specifications of the Goods, Works or Services that are the subject of the Bid; or
- g. Bidder or any of its affiliates has been hired (or is proposed to be hired) by the Procuring Entity as engineer-in-charge/ consultant for the contract.

Annexure B: Declaration by the Bidder regarding Qualifications Declaration by the Bidder

In relation to my/our Bid submitted to	•••••		for _]	procurer	nent of		
in	response	to t	heir	Notice	inviting	Bids	No.
	leclare unde	er Sect	ion 7	of Rajas	than Tran	sparen	cy in
Public Procurement Act, 2012, that:							
1. I/We possess the necessary professional, t	echnical, fi	inancia	al an	d mana	gerial res	ources	and
competence required by the Bidding Document is	sued by the	e Procu	uring	Entity;			
2. I/We have fulfilled my/our obligation to pay	such of the	taxes	paya	ble to th	e Union a	nd the	State
Government or any local authority as specified in	the Bidding	g Docı	umen	t;			
3. I/We are not insolvent, in receivership, bank	rupt or bei	ing wo	ound	up, not	have my	our a	ffairs
administered by a court or a judicial officer, not	have my/c	our bu	sines	s activiti	es suspen	ded an	t not
the subject of legal proceeding for any of the fores	going reaso	ns;					
4. I/We do not have, and our directors and office	ers not have	e, beer	n con	victed of	f any crim	inal of	fence
related to my/our professional conduct or the ma	aking of fal	se stat	emer	nts or mi	srepresent	tations	as to
my/our qualifications to enter into a procurement	nt Contract	withir	n a pe	eriod of	three year	s prece	eding
the commencement of this procurement process,	or not have	e been	othe	rwise dis	squalified	pursua	nt to
debarment proceedings;							
5. I/We do not have a conflict of interest as spe	cified in the	e Act,	Rule	s and th	e Bidding	Docur	nent,
which materially affects fair competition;							
Date:				Signatı	are of bidd	ler	
Place:		N	ame:	:			
		D	esign	ation :			
			ddre				

Annexure C: Grievance Redressal during Procurement Process

The designation and address of the First Appellate Authority is **Executive Committee**, **JDA**, **Jaipur** The designation and address of the Second Appellate Authority **ACS/PS**, **UDH**, **GOR**, **Jaipur**.

Filing an appeal

If any Bidder or prospective bidder is aggrieved that any decision, action or omission of the Procuring Entity is in contravention to the provisions of the Act or the Rules or the Guidelines issued thereunder, he may file an appeal to First Appellate Authority, as specified in the Bidding Document within a period of ten days from the date of such decision or action, omission, as the case may be, clearly giving the specific ground or grounds on which he feels aggrieved: Provided that after the declaration of a Bidder as successful the appeal may be filed only by a Bidder who has participated in procurement proceedings: Provided further that in case a Procuring Entity evaluates the Technical Bids before the opening of the Financial Bids, an appeal related to the matter of Financial Bids may be filed only by a Bidder whose Technical Bid is found to be acceptable.

- (2) The officer to whom an appeal is filed under para (1) shall deal with the appeal as expeditiously as possible and shall endeavour to dispose it of within thirty days from the date of the appeal.
- (3) If the officer designated under para (1) fails to dispose of the appeal filed within the period specified in para (2), or if the Bidder or prospective bidder or the Procuring Entity is aggrieved by the order passed by the First Appellate Authority, the Bidder or prospective bidder or the Procuring Entity, as the case may be, may file a second appeal to Second Appellate Authority specified in the Bidding Document in this behalf within fifteen days from the expiry of the period specified in para (2) or of the date of receipt of the order passed by the First Appellate Authority, as the case may be.

(4) Appeal not to lie in certain cases

No appeal shall lie against any decision of the Procuring Entity relating to the following matters, namely:-

- (a) Determination of need of procurement;
- (b) Provisions limiting participation of Bidders in the Bid process;
- (c) The decision of whether or not to enter into negotiations;
- (d) Cancellation of a procurement process;
- (e) Applicability of the provisions of confidentiality.

(5) Form of Appeal

(a) An appeal under para (1) or (3) above shall be in the annexed form along with as many copies as there are respondents in the appeal.

- (b) Every appeal shall be accompanied by an order appealed against, if any, affidavit verifying the facts stated in the appeal and proof of payment of fee.
- (c) Every appeal may be presented to First Appellate Authority or Second Appellate Authority, as the case may be, in person or through registered post or authorized representative.

(6) Fee for filing appeal

- (a) Fee for first appeal shall be rupees two thousand five hundred and for second appeal shall be rupees ten thousand, which shall be non-refundable.
- (b) The fee shall be paid in the form of bank demand draft or banker's cheque of a Scheduled Bank in India payable in the name of Appellate Authority concerned.

(7) Procedure for disposal of appeal

- (a) The First Appellate Authority or Second Appellate Authority, as the case may be, upon filing of appeal, shall issue notice accompanied by copy of appeal, affidavit and documents, if any, to the respondents and fix date of hearing.
- (b) On the date fixed for hearing, the First Appellate Authority or Second Appellate Authority, as the case may be, shall,-
- (i) Hear all the parties to appeal present before him; and
- (ii) Peruse or inspect documents, relevant records or copies there of relating to the matter.
- (c) After hearing the parties, perusal or inspection of documents and relevant records or copies thereof relating to the matter, the Appellate Authority concerned shall pass and order in writing and provide the copy of order to the parties to appeal free of cost.
- (d) The order passed under sub-clause (c) above shall also be placed on the State Public Procurement Portal.

FORM No. 1

[See Rule 83]

Memorandum of Appeal under the Rajasthan Transparency in Public Procurement Act, 2012

Appeal No	of
Before the	(First/Second Appellate Authority)
1. Particulars of appellant :	
(i) Name of the appellant :	
(ii) Official address, if any :	
(iii) Residential address:	
2. Name and address of the responder	nt (s):
(i)	
(ii)	
(iii)	
3. Number and date of the order app	ealed against and name and designation of the officer/authority
who passed the order (enclose copy),	or a statement of a decision, action or omission of the Procuring
Entity in contravention to the provision	ons of the Act by which the appellant is aggrieved:
4. If the Appellant proposes to be rep	resented by a representative, the name and postal address of the
representative:	
5. Number of affidavits and documen	ts enclosed with the appeal :
6. Grounds of appeal :	
(Supported by an affidavit)	
7. Prayer :	
Place	
Date	

Appellant's Signature

Annexure D: Additional Conditions of Contract

Correction of arithmetical errors

Provided that a Financial Bid is substantially responsive, the Procuring Entity will correct arithmetical errors during evaluation of Financial Bids on the following basis:

i. If there is a discrepancy between the unit price and the total price that is obtained by multiplying the unit price and quantity, the unit price shall prevail and the total price shall be corrected, unless in the opinion of the Procuring Entity there is an obvious misplacement of the decimal point in the unit price, in which case the total price as quoted shall govern and the unit price shall be corrected;

ii. It there is an error in a total corresponding to the addition or subtraction of subtotals, the subtotals shall prevail and the total shall be corrected; and iii. If there is a discrepancy between words and figures, the amount in words shall prevail, unless the amount expressed in words is related to an arithmetic error, in which case the amount in figures shall prevail subject to (i) and (ii) above.

If the Bidder that submitted the lowest evaluated Bid does not accept the correction of errors, its Bid shall be disqualified and its Bid Security shall be forfeited or its Bid Securing Declaration shall be executed.

2. Procuring Entity's Right to Vary Quantities

- (i) If the Procuring Entity does not procure any subject matter of procurement or procures less than the quantity specified in the Bidding Document due to change in circumstances, the Bidder shall not be entitled for any claim or compensation except otherwise provided in the Conditions of Contract.
- (ii) On repeat order for extra items for additional qtys may be placed if it is provided in the bidding documents on the rates and conditions given in the contract, if the original order was given after inviting open competitive bids. Delivery or completion period may also be proportionately increase. The limits of repeat order shall be as under.
 - (a) 50% of the qty of the individual items and 50% of the value of original contract in case of works and
 - (b) 50% of the value of goods or services of the original contract.

3. Dividing quantities among more than one Bidder at the time of award (In case of procurement of Goods)

As a general rule all the quantities of the subject matter of procurement shall be procured from the Bidder, whose Bid is accepted. However, when it is considered that the quantity of the subject matter of procurement to be procured is very large and it may not be in the capacity of the Bidder, whose Bid is accepted, to deliver the entire quantity or when it is considered that the subject matter of procurement to be procured is of critical and vital nature, in such cases, the quantity may be divided between the Bidder, whose Bid is accepted and the second lowest Bidder or even more Bidders in that order, in a fair, transparent and equitable manner at the rates of the Bidder, whose Bid is accepted.

SPECIAL CONDITIONS OF CONTRACT REGARDING

DEFECT LIABILITY PERIOD (DLP) FOR ROADS/ ELECTRICALS WORKS

As per the decision taken in the 201st meeting of Executive Committee held on 23.02.2016 w.r.t. agenda no. 201:22, DLP period of various natures of works amounting more than Rs. 25 lakhs has been revised as per following time periods based on nature of works.

This order will supersede the earlier orders issued in this regard i.e. order No. JDA/TA to D(E)/2010-11/D-317 dated 28.04.2011 including Special Condition No. 2.2.2 & 2.2.3 of Annexure-I related to SD refund & forfeiture (other Special Condition of annexure-I of this order will remain valid) and order No. JDA/Ex.En.(Pr.-5 & TA)/2013/D-43 dated 27.02.2013 and also all pertaining orders, in contract agreements or in PWF&AR having DLP period different than what is being enforced through this present order for concerned type of work.

Table-I

S.No.	Type of work	Existing DLP Period	As per approved in E.C.
			held on 23.02.2016
1.	Bridge Work	3 years	5 Years
2.	CD Work	3 years	5 Years
3.	CC Road. PQC Work	3 years	5 Years
4.	CC tiles/Kerbs/medians	3 years	5 Years
5.	Drains	6 Months	3 Years
6.	Roads		
	(i)Two layer WBM/GSB	3 years	6 months or one full rainy season which ever is later
	(ii)For Renewal/Strengthening		
	(a)BT upto 30 mm thichness	3 years	1 Years
	(b)BT above 30 mm to upto 40 mm	3 years	2 Years
	(c)BT above 40 mm to upto 90 mm	3 years	3 Years
	(d)BT above 90 mm thickness	3 years	5 Years
	(iii) New Roads		
	(a) BT upto 90 mm	3 years	3 Years
	(b) BT more than 90 mm	3 years	5 Years
7.	Compound wall	6 Months	3 Years
8.	Building Work		
	(i) Work pertaining to Sanitary work electrical works, Joinery works and painting works.	6 Months	2 Years

	(ii) Work pertaining to Building structure and other civil works	6 Months	5 Years
9.	Electric work except maintenance	6 Months	3 years
10.	Sewer/Water supply all including STP and water supply related work except maintenance works.	6 Months	3 Years

The release of SD amount shall be as per following table :-

Table-II

S.No.	DLP Period	Released SD	1 Year	2 Years	3 Years	5 Years
1.	Upto 1 year		100%	40%	20%	10%
2.	Upto 2 year			60%	20%	10%
3.	Upto 3 year				60%	10%
4.	Upto 4 year					20%
5.	Upto 5 year					50%

Various condition for managing DLP are as under :-

- (i) At the time of completion of work, final componnt shall be worked out for each individual item like BT/CC/tiles/ drains etc (as per different categories in Table-I), DLP shall be operative based upon type of individual item ex:- CC-5 years, BT1/2/3/5 years, Drain-3 years etc.
- (ii) Similarly for all new works, these components should be calculated at the time of TS itself, which should be made part of BID document.
- (iii) If any work, amount is less than Rs. 25 lacs but later on due to extra/excess work, if amount of final work cresses more than Rs. 25 lacs, DLP shall be operative as per rule for each individual items.
- (iv) Similarly if any work is more than Rs. 25 lacs but after finalization amount or work is less than Rs. 25 lacs, DLP should be operative for six months or rainy season whichever is late.
- (v)During DLP period if contractor fails to repair any work even after issue of 7 days written notice, same work shall be got executed by respective Executive Engineer at the contractor's risk and cost. This process shall be applicable throughout the DLP period. After completion of DLP period in such works contractor should be debarred and blacklisted. From JDA for three years as per RTPP rule 2012 and 2013 where he defaults twice in a single agreement or in two different works.
- (vi) Quarterly Inspection as per rules shall be carried out and DLP registers shall be maintained by respective Executive Engineers to monitor the DLP repairs.
- (vii) Special and regular inspection shall also be carried out as per order no. JDA/Ex.En. & TA to DE-I/2014-15/D-223 dated 12.03.2015 and order no. SE (PMGSY) CIRULAR 2006/D-115 dated 04.05.2006 Point no. 3.
- (viii)In case JDA feels to take up work on any existing DLP road due to any reason, following procedure should be adopted:
 - (a) At the time of withdrawal total liability of repairs as per DLP conditions to be carried out and contractor shall be asked to complete the same. After completion of assessed repairs DLP period shall be released after deduction amt. as per table III

Table-III

% Recovery on withdrawal of DLP of work order		2 Year	3 Year	4 Year	5 Year
DLP period					
1 Year	1.12	-	-	-	-
2 Year	2.55	1.43	-	_	-
3 Year	4.38	3.26	1.83	-	_
5 Year	9	7.88	6.45	4.62	2.47

Note :- Calculation is to be done on quarterly basis.

- (b) In case Contractor fails to carry out these repairs, same shall be carried out at his risk and cost. If the total amt. of such repairs works out to be more than total retained amt. of SD same shall be recovered from other works and as per PDR rules. The amount as per Table III is also to be deducted in addition to this amount.
- (ix) Based upon type of work, DLP conditions for works to be carried out during DLP period with their frequency of respective type of work shall be prepared by respective SE"s after approval of these periods.

This order shall come in force with immediate effect and will be applicable on all new works whose NIB is to be called.

Signature of contractor with Executive Engineer – (Elect-IV)
Full address.

JDA, Jaipur.

Tender Inviting Authority: JAIPUR DEVELOPMENT AUTHORITY, JAIPUR Name of Work:- Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur

Contract No: EE (Elect-IV)/07/2021-22

Bidder Name :		_				
i vanic .	Į Į	RICE SCHEI	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
1.00	P & Laying XLPE insulated IS:7098/II/85 of Group1 and approved make H.T.cable for working voltage 11 K.V.Earthed direct in ground including excavation of 30cmx100cm size trench, 25cm layer of river sand, IInd class bricks covering, refilling earth, compaction of earth, making necessary connection testing etc.as required of size.					
1.10	3 core 185.0 Sq.mm	15000.000	Each	1012.80	15192000.00	INR One Crore Fifty One Lakh Ninety Two Thousand Only
2.00	Supply & fabrication steel structure with MS channel / angle / joist / ISMB / sheet etc. including welding, rivetting, cutting, nut & bolt , Painting etc. as required.	65000.000	Kg.	67.20	4368000.00	INR Forty Three Lakh Sixty Eight Thousand Only
3.00	Providing & making heat shrinkable type indoor/outdoor/straight through terminations/joint kit of Group1 and approved make suitable for XLPE insulated 11 KV / 33 KV cable, with required components, prepration of cable ends,testing etc. as required of following sizes .					
3.10	11 KV End Termination Kit Indoor type					
3.20	3 core 120/150/185/225 Sq.mm	120.000	Set.	4000.00	480000.00	INR Four Lakh Eighty Thousand Only
3.30	11 KV End Termination Kit Outdoor type					
3.40	3 core 120/150/185/225 Sq.mm	200.000	Set.	5200.00	1040000.00	INR Ten Lakh Forty Thousand Only
3.50	11 KV Straight Through Joint Kit					
3.60	3 core 120/150/185/225 Sq.mm	60.000	Set.	12000.00	720000.00	INR Seven Lakh Twenty Thousand Only

Bidder Name :						
	PI	RICE SCHEI	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
4.00	P/F testing and commissining of kiosk type weather proof distribution feeder pillar box of size 600x450x900mm with taper of 75mm at Top for protection of rainwatar and made out of 3.2mm (10gaige) thick CRCA ms sheet frant & back both side openable. completly hinged dorrs with locking arrengement by providing both sides hold draft sand all HIW's for fabrications of box.The cubical pannel should be dust and varmin proof followed by two coats of Powder coated. The cubical pannel should be mounted with HIW an angle iron frame 50mmx50mmx6mm and 900mm lags with hold drafts duly primered and blake painted frame be grouted with cement can crete 1:2:4 ratio and providing brick masonary alang iron frame above grand level. The pannel should camprising of as per following.	200.000	Each	14794.00	2958800.00	INR Twenty Nine Lakh Fifty Eight Thousand Eight Hundred Only
5.00	Supply and installation of spike of M.S. rod 20mm dia 3.0mtr. long for earthing of (tower/pole) drive into earth by mechnical means sturcture connection the spike with cross arm top hamper PCC pole, lattics tower to earth etc. complete as per technical specification of DISCOM	490.000	Set.	520.00	254800.00	INR Two Lakh Fifty Four Thousand Eight Hundred Only
6.00	SITC of 11 KV, 400/630 A, 20kA / 3 sec, Out door, Extensible type Ring main unit (RMU) in suitable RCC foundation with 2 no. Load break switch & 1 no. VCB / SF6 circuit breaker with over load, Earth fault, short circuit relay, copper bus bar, earthing switch, mechanical ON / OFF / Earth indication, Voltage presence indicator, Ring core protection CT 2.5 VA, 10P10 as per transformer rating, Shunt trip coil, Anti reflex operating handle, right angle boots etc. as required.	50.000	Set.	331648.00	16582400.00	INR One Crore Sixty Five Lakh Eighty Two Thousand Four Hundred Only
7.00	Supplying and making one end termination with heavy duty single compression brass gland SIBG type, heavy duty aluminium lugs duly crimped with crimping tool, PVC tape etc for following size of Armoured PVC insulated & PVC sheathed/ XLPE aluminium conductor cable of 1100 volt grade as required of size.					
7.10	3.5 x 185.0 sq.mm	700.000	Set.	316.00	221200.00	INR Two Lakh Twenty One Thousand Two Hundred Only
8.00	SITC of Cutting back up surface up to 2 Mtr. Depth by digging by Bogi including all layers of crust for laying pipe line etc. and making good to original condition (excluding cost of		Mtr	288.00	7200000.00	INR Seventy Two Lakh Only

Bidder Name :								
	PRICE SCHEDULE							
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
9.00	Supply and fixing of piller box made of 2 mm thick powder coated CRCA sheet of 415 volts 3 phase 4 wire triple pole and neutral type, complete in all respect as required. Including knife switch of 400 amp. rating , HRC fuses with copper one piece U contacts base, brass studs and nuts, copper busbar for main and interconnection, MS angle frame of 50 x 50 x 6 mm grouted with C.C. of M-10 grade to achieve the height of 1.5 feet above the road level suitable for four outgoing.	100.000	Each	34000.00	3400000.00	INR Thirty Four Lakh Only		
10.00	S I T C of BEE 3 star rated Aluminium wound Transformer conforming to IS: 2026 & Losses as per Discom's CTL (CTL Test certificate to be attached) of rating 11/0.433KV Delta-Star Connected, Vector Group Dyn 11, standard accessories like conservator, silica gel breather, radiator, fins, HT bushing & LT cableboxes, Off -LTC (+/- 5% in steps of 2.5%) winding temperature rise of 50/55 C, ISI marked drain valve, Dial type Temperature gauge, first fill of oil, Epoxy based paint, including carrying of precommission Testing & Charging of Transformer. (See table - 08 for CTL Losses)							
10.10	160KVA	100.000	Each	189904.00	18990400.00	INR One Crore Eighty Nine Lakh Ninety Thousand Four Hundred Only		
11.00	P/Laying P.V.C. / XLPE insulated & P.V.C. sheathed cable of 1.1 KV grade with aluminium conductor of IS:1554 P-I / IS:7098 P - I of Group 1 of approved make in ground as per IS:1255 including excavation of 30cmx75cm size trench, 25 cm thick under layer of sand,IInd class bricks covering, refilling earth,compaction of earth, making necessary connection, testing etc. as required of size.							
11.10	3.5 core 185.0 Sq.mm	18000.000	Mtr	733.60	13204800.00	INR One Crore Thirty Two Lakh Four Thousand Eight Hundred Only		
12.00	Earth work in excavation by mechanical means (Hydraulic Excavator)/ manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sum on plan) including dressing of sides and ramming of bottoms, lift upto 1.5 m, including taking out the excavated soil and depositing and refilling of jhiri with watering & ramming and disposal of surplus excavated soil as directed with in a lead of 50 meter. All kinds of soils	1580.000	Cum.	111.60	176328.00	INR One Lakh Seventy Six Thousand Three Hundred & Twenty Eight Only		
13.00	CEMENT CONCRETE (CAST-IN-SITU)							
14.00	Providing and laying in position cement concrete including curing, compaction etc. complete in specified grade excluding the cost of centering and shuttering - All work up to plinth level.							

Bidder Name: PRICE SCHEDULE Item Description S1. Quantity Units **Estimated TOTAL** TOTAL AMOUNT **AMOUNT** No. Rate In Words 14.10 1:4:8 (1 cement : 4 coarse sand : 8 graded stone INR Four Lakh Twenty aggregate 40 mm nominal size) **Three Thousand Three** 205.686 Cum. 2058.30 423363.49 Hundred & Sixty Three and Paise Forty Nine Only 15.00 Providing and laying cement concrete including curing, compaction etc. complete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, levelling course etc up to floor five level excluding the cost of centering and shuttering. M15 grade Nominal Mix 1: 2: 4 (1 cement : 2 coarse INR One Lakh Forty sand: 4 graded stone aggregate 20mm nominal size). Four Thousand Three 45.309 Cum. 3186.90 144395.25 Hundred & Ninety Five and Paise Twenty Five Only 16.00 Random Rubble stone masonry for with hard stone in foundation and plinth in Cement Sand mortar above 30 CM thick wall in: 16.10 Cement Mortar 1:6 (1-Cement: 6-Sand). INR Twelve Lakh Seventy Four Thousand 719.800 1770.30 1274261.94 Two Hundred & Sixty Cum. One and Paise Ninety Four Only 17.00 Random Rubble stone masonry with hard stone in superstructure above plinth level and upto five level above 30cm. thick walls in: Cement Mortar 1:4 (1-Cement: 4-Sand). INR Two Lakh Nine 87.666 Cum. 2384.10 209004.51 Thousand &Four and Paise Fifty One Only Add extra for Random Rubble stone masonry with hard stone in 18.10 Square or Rectangular pillars INR One Thousand 7.819 135.00 1055.57 &Fifty Five and Paise Cum. Fifty Seven Only Filling available excavated earth (excluding rock) in trenches, plinth side of foundation etc. in layers not INR Two Thousand exceeding 20 cm. in depth, consolidating each 50.000 40.50 2025.00 Cum. &Twenty Five Only deposited layer by ramming and watering including lead up to 50 meter and with all lift. 20.00 Supplying chemical emulsion in sealed containers including delivery as specified. INR Thirteen Thousand 80.000 13176.00 Liter 164.70 One Hundred & Seventy Six Only

Bidder Name :						
	<u>P1</u>	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
21.00	Diluting and injection Chloropyrifos Emulsifiable concentrate 20% with 1% concentration for PRE-CONSTRUCTIONAL Anti termite treatment as per IS 6313 part III as amended from time to time and creating a continuous chemical barrier under and around the column pits, wall trenches, basement excavation, top surface of plinth filling, junction of wall and floor along the external perimeter of building expansion joints, over the top surface of consolidated earth of which aproch is to be laid surrounding of pipes and conduits etc. complete as per specification (Plinth floor area only shall be measured for payment and excluding the cost of chemical emulsion)	483.900	Sqm.	29.70	14371.83	INR Fourteen Thousand Three Hundred & Seventy One and Paise Eighty Three Only
22.00	CAST-IN-SITU CONCRETE					
22.10	Providing and laying in position specified grade of cement concrete for RCC structural elements upto floor five level including curing, compaction, finishing with rendering in cement sand mortar 1:3 (1 cement: 3 coarse sand) and making good the joints and cost of plastizers(if required) excluding the cost of centering, shuttering and reinforcement for Beams, suspended floors, roofs, griders having slopes up to 15°, landings, balconies, shelves, chajjas, lintels, bands, plain windows sills, staircases and spiral staircases etc. M20 grade Nominal Mix / Design Mix	222.800	Cum.	3232.80	720267.84	INR Seven Lakh Twenty Thousand Two Hundred & Sixty Seven and Paise Eighty Four Only
23.00	Brick work with F.P.S. bricks of class designation 75 in uperstructure above plinth level upto floor V level in all shapes and sizes in:					
23.10	Cement mortar 1 : 6 (1 cement : 6 coarse sand)	185.370	Cum.	2949.30	546711.74	INR Five Lakh Forty Six Thousand Seven Hundred & Eleven and Paise Seventy Four Only
24.00	FORMK WORK					
24.10	Centering & shuttering with plywood or steel sheets including strutting, propping bracing both ways with steel props and removal of formwork for upto floor five level for:					
25.00	Suspended floors, roofs, landings, staircases, balconies, girders, cantilevers, bands, coping bed plates, anchor blocks, sills, chhajjas, lintel, beam, plinth beam etc.		Sqmm.	212.40	171104.34	INR One Lakh Seventy One Thousand One Hundred & Four and Paise Thirty Four Only
26.00	STEEL REINFORCEMENT					
26.10	Providing and fabricating reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding (including cost of binding wire) all complete up to floor five level.					

Bidder Name :								
PRICE SCHEDULE								
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
26.20	Thermo-mechanically Treated bars (Conforming of relevent IS code)	1100.000	Kg.	62.10	68310.00	INR Sixty Eight Thousand Three Hundred & Ten Only		
27.00	KOTA STONE FLOORING							
27.10	Kota stone slab flooring 25 mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polishing complete with base of cement mortar 1:4 (1 cement: 4 coarse sand)							
27.20	For area of each slab from 2001 to 5000 Sq.Cm	394.631	Sqm	638.10	251814.04	INR Two Lakh Fifty One Thousand Eight Hundred & Fourteen and Paise Four Only		
28.00	CEMENT PLASTER							
28.10	Plaster on new surface on walls in cement sand mortar 1:4 including racking of joints etc. complete fine finish:							
28.20	20mm thick .	1235.870	Sqmm.	107.10	132361.68	INR One Lakh Thirty Two Thousand Three Hundred & Sixty One and Paise Sixty Eight Only		
29.00	Plaster on new surface on walls in cement sand mortar 1:6 including racking of joint etc. complete fine finish:							
29.10	20mm thick.	1641.500	Sqmm.	92.70	152167.05	INR One Lakh Fifty Two Thousand One Hundred & Sixty Seven and Paise Five Only		
30.00	6 mm thick cement plaster to ceiling of mix 1:3 (1cement:-fine sand)	520.000	Sqmm.	67.50	35100.00	INR Thirty Five Thousand One Hundred Only		
31.00	ROUGH CAST PLASTER							
31.10	Providing and applying white cement based putty over lastered surface to prepare the surface even and smooth complete	1600.000	Sqmm.	64.80	103680.00	INR One Lakh Three Thousand Six Hundred & Eighty Only		
32.00	Providing and applying plaster of paris putty of 2 mm thickness over plastered surface to prepare the surface even and smooth complete	300.000	Sqmm.	43.20	12960.00	INR Twelve Thousand Nine Hundred & Sixty Only		

Bidder Name :								
PRICE SCHEDULE								
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
33.00	INTERIOR FINISHING							
33.20	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade including all scaffolding:							
34.00	Two or more coats on new work including prepartion of base ith primer, putty, lippy etc complete in all respect	705.950	Sqm	45.90	32403.11	INR Thirty Two Thousand Four Hundred & Three and Paise Ten Only		
35.00	Extra for providing external lipping with 2nd class teak wood battens 6 mm minimum depth on all edges of shutters (over all area of door shutter to be measured) Over item no. 8.13.	32.000	Sqm.	109.80	3513.60	INR Three Thousand Five Hundred & Thirteen and Paise Sixty Only		
36.00	GALVANISED IRON SHEET ROOFING							
36.10	Grading roof for water proofing treatment with water proffing compound							
36.20	Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	20.862	Cum.	2934.00	61209.11	INR Sixty One Thousand Two Hundred & Nine and Paise Eleven Only		
37.00	Providing gola 75x75 mm in cement concrete 1:2:4 (cement: 2 coarse sand: 4 stone aggregate 10mm and down gauge) including finishing with cement mortar 1:3 (1 cement:	65.000	Mtr	72.90	4738.50	INR Four Thousand Seven Hundred & Thirty Eight and Paise Fifty Only		
38.00	Providing & fixing UV stabilised fiberglass reinforced plastic sheet roofing upto any pitch including fixing with polymer coated 'J' or 'L' hooks, bolts & nuts 8mm dia. G.I plain/bitumen washers complete but excluding the cost of purlins, rafters, trusses etc. The sheets shall be manufactured out of 2400 TEX panel rovigs incorporating minimum 0.3% Ultravoilet stabiliser in resin system under approximately 2400 psi and hot cured. They shall be of uniform pigmentation and thickness without air pockets and shall confoim to IS 10192 and IS 12866.The sheets shall be opaque or translucent, clear or pigmented,							
38.10	textured or smooth as specified 3.0mm thick (Wt. 5.0 Kg./Mtr. Sq.)	45.000	Sqmm.	886.50	39892.50	INR Thirty Nine Thousand Eight Hundred & Ninety Two and Paise Fifty Only		

Bidder Name: PRICE SCHEDULE S1. Item Description Quantity Units **Estimated TOTAL** TOTAL AMOUNT **AMOUNT** No. Rate In Words Providing and fixing external grade board solid core 39.00 flush door shutters ISI 2202-67 marked using Phenol formal dehyderesin in glue both sides with approved steel fittings complete as per annexure 'A' : 39.10 25 mm thick. Decorative teak veneer One side 40.00 **INR Twenty Nine Thousand Seven** 25.000 1188.90 29722.50 Sqmm. Hundred & Twenty Two and Paise Fifty Only 40.10 PAINTING 41.00 Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: 41.10 Two or more coats on new work INR Seven Thousand 185.000 Sqmm. 39.60 7326.00 Three Hundred & Twenty Six Only STONEWARE PIPES & FITTING 42.00 P & F Square-mouth gully trap `A` grade (IS 651-1992 :marked) of approved make complete with C.I. grating, frame & Cover masonary chamber in C.M. 1:6, 100mm thick C.C. 1:5:10 base concrete, 40mm thick C.C.M-15 grade coping, 12mm thick cement plaster in CM 1:3 complete as per approved design & type. 43.00 Trap size 150 X 100mm, ferrow cement cover with INR Six Thousand frame, 8.000 Each 752.40 6019.20 &Nineteen and Paise Internal Chamber size 300 X 300mm. **Twenty Only** RIGID PVC SOIL 43.10 44.00P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 44.10 75 mm dia INR Two Thousand 25.000 99.00 2475.00 Four Hundred & Seventy Mtr Five Only 44.20 110 mm dia INR Eight Thousand Six 55.000 Mtr 156.60 8613.00 Hundred & Thirteen Only 44.30 160 mm dia INR Five Thousand Six 225.00 5625.00 25.000 Mtr **Hundred & Twenty Five** Only

Bidder Name :										
	PRICE SCHEDULE									
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words				
45.00 45.10	P&F rigid PVC pipe fittings (IS: 4985 mark) of approved quality /make including joining the pipe with solvent cement rubber ring and lubricant: Coupler (socket)									
45.10	Couplet (socket)									
45.20	75mm dia	15.000	Each	51.30	769.50	INR Seven Hundred & Sixty Nine and Paise Fifty Only				
45.30	110mm dia	20.000	Each	62.10	1242.00	INR One Thousand Two Hundred & Forty Two Only				
45.40	160 mm dia	15.000	Each	69.30	1039.50	INR One Thousand &Thirty Nine and Paise Fifty Only				
45.50	Door Tee									
45.60	i 75mm dia	15.000	Each	103.50	1552.50	INR One Thousand Five Hundred & Fifty Two and Paise Fifty Only				
45.70	110mm dia	15.000	Each	124.20	1863.00	INR One Thousand Eight Hundred & Sixty Three Only				
45.80	160 mm dia	15.000	Each	133.20	1998.00	INR One Thousand Nine Hundred & Ninety Seven and Paise One Hundred Only				
45.90	Bend 45									
46.00	75mm dia	12.000	Each	46.80	561.60	INR Five Hundred & Sixty One and Paise Sixty Only				
46.10	110mm dia	12.000	Each	73.80	885.60	INR Eight Hundred & Eighty Five and Paise Sixty Only				
46.20	160 mm dia	12.000	Each	83.70	1004.40	INR One Thousand &Four and Paise Forty Only				
46.30	Bend 87.5									
46.40	75mm dia	12.000	Each	56.70	680.40	INR Six Hundred & Eighty and Paise Forty Only				
46.50	110mm dia	12.000	Each	90.00	1080.00	INR One Thousand &Eighty Only				

Bidder Name: PRICE SCHEDULE Item Description Quantity TOTAL AMOUNT S1. Units **Estimated TOTAL AMOUNT** In Words No. Rate 46.60 160 mm dia INR One Thousand One 12.000 99.90 1198.80 **Hundred & Ninety Eight** Each and Paise Eighty Only 46.70 Vent Cowel 46.80 75mm dia INR Three Hundred & 13.000 Each 25.20 327.60 Twenty Seven and Paise Sixty Only 46.90 110mm dia INR Four Hundred & 13.000 Each 32.40 421.20 Twenty One and Paise **Twenty Only** 47.00 160 mm dia INR Five Hundred & 13.000 Each 44.10 573.30 Seventy Three and Paise Thirty Only Pipe Clip 47.10 47.20 75mm dia INR Three Hundred & 25.000 360.00 Each 14.40 Sixty Only 110mm dia 47.30 INR Five Hundred & 25.000 Each 20.70 517.50 Seventeen and Paise Fifty Only 47.40 160 mm dia INR Four Hundred & 15.000 Each 30.60 459.00 Fifty Nine Only 48.00 Construction of soakage well in all type of soil with 300 mm thick dry masonry, top and bottom 300 mm course in CM 1:6, 80mm thick stone slab, jointing of slab in CM 1:3, Ralthal, Kharanja, 40 mm thick M-15 grade C.C flooring , earthwork complete as per approved drawing including disposal of earth within a lead of 50 mtr.: Size 300 Cm. dia outside & 240 Cm. Depth. INR Three Lakh Fifty 25.000 14256.00 356400.00 Each Six Thousand Four Hundred Only

Bidder Name :						
- (41110)	Pl	RICE SCHEI	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
49.00	Construction of septic Tank in all types of soil with 40 Cm. thick masonry in CM 1:6, 15 Cm thick C.C bed of 1:5:10, M-15 grade C.C flooring & over stone slab covering ,80 mm thick slab ,jointing of slab in CM 1:3. Ralthal, Kharanja, 50 mm thick stone partition walls, 20 mm thick plaster in CM 1:6 finished with neat floating cement, 4 Nos C.I foot rests of approved design ,two No. 450 mm dia each Ferro cement cover with frame, earth work etc. complete as per approved drawing including disposal of surplus earth within a lead of 50					
49.10	mtr:- Size 230 x110 x150 cm.(for 20 users)	2.000	Each	23715.00	47430.00	INR Forty Seven Thousand Four Hundred & Thirty Only
50.00	WATER CLOSETS					
50.10	P & F European type white glazed vitreous china 1st quality W.C pan (IS: 2556 Mark) with P or S trap including cutting and making good the wall and floor		Each	1165.50	2331.00	INR Two Thousand Three Hundred & Thirty One Only
50.20	URINALS					
51.00	P & F W.V.C. (IS: 2556 Mark) Squatting Urinal of standard make complete. Including cutting & making good the floor:					
51.10	Size 450x350mm	2.000	Each	558.00	1116.00	INR One Thousand One Hundred & Sixteen Only
52.20	P & F Low level Flushing Cistern of 10 litres capacity (IS: 2556mark). Of approved make with complete fittings C.I. brackets duly painted, brass ball cock with ball, (IS: 1703 mark) complete including cutting and making good the wall: PVC with PVC bend as per IS: 7231		Each	821.70	1643.40	INR One Thousand Six Hundred & Forty Three and Paise Forty Only
52.30	WASH BASINS					and raise rolly only

Bidder Name :		-							
	PRICE SCHEDULE								
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words			
53.00	P & F WVC wash basin (1st quality, I.S. : 2556 Mark) of								
	approved make with C.I. brackets duly painted, 1 No. 15 mm C.P. Pillar cock (IS: 8934 Mark) & 32 mm C.P. brass waste coupling of approved make, 25 mm G.I. waste pipe complete including cutting & making good the wall.:								
53.10	Size 510 mm x 400 mm	3.000	Each	1427.40	4282.20	INR Four Thousand Two Hundred & Eighty Two and Paise Twenty Only			
53.20	MISCELLANEOUS								
54.00	P & F Bevelled edge Mirror/mirror with teak wood lipping around of special glass of approved make as per direction of Engineer-in-charge complete with 6mm thick commercial ply base fixed to wooden screws & washers.								
54.10	Size 600 x 450mm x 4 mm thick	3.000	Each	321.30	963.90	INR Nine Hundred & Sixty Three and Paise Ninety Only			
55.00	P & F Soap Dish or Tray of approved quality/make								
55.10	C.P. brass heavy and superior quality.	3.000	Each	85.50	256.50	INR Two Hundred & Fifty Six and Paise Fifty Only			
55.20	GALVANISED IRON PIPES								
	P & F G.I. pipes (Internal Work) with G.I. Fittings excluding union (IS:1239 Mark) & MS clamps including cutting and making good the walls and floors:								
56.10 56.20	Exposed on wall 15 mm dia nominal bore								
56.30	'B' Class								
30.30	D Class	80.000	Mtr	121.50	9720.00	INR Nine Thousand Seven Hundred & Twenty Only			
56.40	25mm dia nominal bore								
56.50	'B' Class	60.000	Mtr	207.00	12420.00	INR Twelve Thousand Four Hundred & Twenty Only			
57.00	P & F G.I. Pipes (External Work) with G.I. fittings excluding union (IS: 1239 Mark) including trenching & refilling earth etc.								

PĮ	RICE SCHE	DULE			
		Units	Estimated	TOTAL	TOTAL AMOUNT
•	,		Rate	AMOUNT	In Words
15mm dia nominal bore					
'B' Class					
	110.000	Mtr	99.00	10890.00	INR Ten Thousand Eight Hundred & Ninety Only
25mm dia nominal bore					
'B' Class	110.000	Mtr	165.60	18216.00	INR Eighteen Thousand Two Hundred & Sixteen Only
50mm dia nominal bore					
'B' Class	110.000	Mtr	302.40	33264.00	INR Thirty Three Thousand Two Hundred & Sixty Four Only
P & F Bib Cock (IS: 8931 Mark), Superior quality of approved					
	20.000	Each	639.90	12798.00	INR Twelve Thousand Seven Hundred & Ninety Eight Only
P & F Ball Cock (IS :1703 Mark) with Rod & P.V.C. Ball complete:					
Brass wt.400 gm,15mm.	5.000	Each	183.60	918.00	INR Nine Hundred & Eighteen Only
Brass wt.1000 gm, 25mm.	4.000	Each	257.40	1029.60	INR One Thousand &Twenty Nine and Paise Sixty Only
P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make:					
Gun-metal 15mm nominal bore.	20.000	Each	223.20	4464.00	INR Four Thousand Four Hundred & Sixty Four Only
Gun-metal 25mm nominal bore.	20.000	Each	391.50	7830.00	INR Seven Thousand Eight Hundred & Thirty Only
Gun-metal 50mm nominal bore.	2.000	Each	1084.50	2169.00	INR Two Thousand One Hundred & Sixty Nine Only
	Item Description 15mm dia nominal bore 'B' Class 25mm dia nominal bore 'B' Class 50mm dia nominal bore 'B' Class COCKS, MIXERS, DIVERTORS & VALVES Note: (a) The rates are for ISI marked item. (b) If the items are Non-ISI marked, reduce the rate by 25%. P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: C.P. Brass Long body, 15mm nominal bore weight not less than 690 gm P & F Ball Cock (IS:1703 Mark) with Rod & P.V.C. Ball complete: Brass wt.400 gm,15mm. Brass wt.400 gm,25mm. P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make: Gun-metal 15mm nominal bore.	Item Description Quantity 15mm dia nominal bore The Class 110,000 25mm dia nominal bore The Class 110,000 50mm dia nominal bore The Class 110,000 50mm dia nominal bore The Class 110,000 COCKS, MIXERS, DIVERTORS & VALVES Note: (a) The rates are for ISI marked item. (b) If the items are Non-ISI marked, reduce the rate by 25%. Press Fiblic Cock (IS: 8931 Mark), Superior quality of approved make: C.P. Brass Long body, 15mm nominal bore weight not less than 690 gm 20,000 Press Fiblic Cock (IS: 1703 Mark) with Rod & P.V.C. Ball complete: Brass wt.400 gm,15mm. 5,000 Brass wt.1000 gm, 25mm. 4,000 Press Filliway Valve (IS:778 Mark) or wheel valve of approved make: Gun-metal 15mm nominal bore. 20,000 Gun-metal 25mm nominal bore.	15mm dia nominal bore 'B' Class 110.000 Mtr 25mm dia nominal bore 'B' Class 110.000 Mtr 50mm dia nominal bore 'B' Class 110.000 Mtr 50mm dia nominal bore 'B' Class 110.000 Mtr COCKS, MIXERS, DIVERTORS & VALVES Note: (a) The rates are for ISI marked item. (b) If the items are Non-ISI marked, reduce the rate by 25%. P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: C.P. Brass Long body, 15mm nominal bore weight not less than 690 gm 20.000 Each P & F Ball Cock (IS:1703 Mark) with Rod & P.V.C. Ball complete: Brass wt.400 gm,15mm. 5.000 Each P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make: Gun-metal 15mm nominal bore. 20.000 Each Gun-metal 25mm nominal bore.	Item Description Quantity Units Estimated Rate	Item Description

Tender Inviting Authority: JAIPUR DEVELOPMENT AUTHORITY, JAIPUR Name of Work:- Electrification of JDA Residential scheme, Lohamandi, JDA, Jaipur Contract No: EE (Elect-IV)/07/2021-22

Bidder Name :						
	<u>P1</u>	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
63.00	P & F foot valve of superior quality and approved make with fittings:					
63.10	Brass 25 mm.	10.000	Cum.	118.80	1188.00	INR One Thousand One Hundred & Eighty Eight Only
64.00	P & F PVC Storage Tank ISI Marked (IS: 12701) indicating the BIS license No), of approved make with cover, 25mm dia 1M long G.I. over-flow pipe & 25 Cm. long wash out pipe with plug & socket, including making connection etc., complete of approved design:					
64.10	1000 litres capacity.	3.000	Each	5400.00	16200.00	INR Sixteen Thousand Two Hundred Only
65.00	Supply & fixing G.I. Union ISI marked in G.I. pipe line as required complete in all respect of size:					
65.10	15mm dia nominal bore	15.000	Each	79.20	1188.00	INR One Thousand One Hundred & Eighty Eight Only
65.20	25mm dia nominal bore	10.000	Each	126.90	1269.00	INR One Thousand Two Hundred & Sixty Nine Only

Bidder Name :						
i vanic .	 	RICE SCHEI	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
66.00	Construction of un-reinforced, dowel jointed at expansion and construction joint only, plain cement concrete pavement, thickness as per design, over a prepared sub base, with 43 grade cement as per Clause 1501.2.2 M35 (Grade), coarse and fine aggregates conforming to IS:383, maximum size of coarse aggregate not exceeding 25 mm, mixed in a automatic concrete mixing plant, using approved mix design,transported in transit mixture from plant to work site, laid in approved fixed side formwork (steel channel, laying and fixing of 125 micron thick polythene film, wedges, steel plates including levelling the form work as per drawing), spreading the concrete with shovels, rakes, compacted using needle, screed and plate vibrators and finished in continuous operation including provision of contraction and expansion, construction joints, applying debonding strips, primer, sealant, dowel bars, near approaches to bridge/culvert and construction joints, admixtures as approved, curing of concrete slabs for 14-days,	14.000	Cum.	5310.00	74340.00	INR Seventy Four Thousand Three Hundred & Forty Only
67.00	Add extra for Square or Rectangular Pillars in Superstructre brick work up to five storey					
67.10	Upto 45 cm length and two corners are free	1.350	Cum.	107.10	144.59	INR One Hundred & Forty Four and Paise Fifty Nine Only
68.00	Providing and fixing steel gate, grating, and grills made of angles, tees, square bars, flats,or black pipe with holdfast and fittings complete as per design and drawing including cutting welding and fabrication with priming coat of red oxide	2200.000	Kg.	66.60	146520.00	INR One Lakh Forty Six Thousand Five Hundred & Twenty Only
69.00	Extra 10% if square,rectangular hollow tubelar sections are used or grill made by flats only	500.000	Kg.	6.66	3330.00	INR Three Thousand Three Hundred & Thirty Only
69.10	FENCING WORK					

Bidder Name :								
	<u>PI</u>	RICE SCHE	DULE					
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
70.00	120cm. high fencing with angle iron posts 50x50x6mm. placed at every 3 Mtr. apart 30cm. in ground embedded in cement concrete 1:3:6 (30x30x45cm) corner & every tenth posts to be strutted with 50x50x6mm angle iron provided with three horizontal lines and two diagonals of black barbed wire between two posts fitted and fixed with G.I. staple including earth work in excavation etc. complete.	215.000	Mtr	349.20	75078.00	INR Seventy Five Thousand &Seventy Eight Only		
	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and MoRD specifications Clause 802, 803, 1202 & 1203							
71.10	P.C.C grade M 10							
71.20	Nominal mix 1:3:6	20.500	Cum.	2646.00	54243.00	INR Fifty Four Thousand Two Hundred & Forty Three Only		
72.00	Wiring of light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade (IS:694) of approved make in surface / recessed ISI marked MMS (IS:9537 P - III) PVC conduit & it's accessories, round tiles,18 SWG M.S. box with earth terminal, 6 A switch, 3.0 mm thick ISI marked phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required.							
72.10	Short point (up to 3 mtr.)	17.000	P. Point	172.00	2924.00	INR Two Thousand Nine Hundred & Twenty Four Only		
72.20	Medium point (up to 6 mtr.)	14.000	P. Point	270.40	3785.60	INR Three Thousand Seven Hundred & Eighty Five and Paise Sixty Only		
72.30	Long point (up to 10 mtr)	10.000	P. Point	379.20	3792.00	INR Three Thousand Seven Hundred & Ninety Two Only		

Bidder Name :						
	<u>P1</u>	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
73.00	Wiring of 3 pin 5 amp. Light plug point with 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS:694) of approved make in surface / recessed ISI marked MMS (IS:9537 P - III) PVC conduit & it's accessories, 18 SWG 175 mm x 100 mm x 60 mm M.S. box with earth terminal, 6 A switch, 6 A socket, 3.0 mm thick ISI marked phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required.					
73.10	On board	22.000	P. Point	72.00	1584.00	INR One Thousand Five Hundred & Eighty Four Only
73.20	Short point (up to 3 mtr.)	12.000	P. Point	200.80	2409.60	INR Two Thousand Four Hundred & Nine and Paise Sixty Only
73.30	Medium point (up to 6 mtr.)	17.000	P. Point	294.40	5004.80	INR Five Thousand &Four and Paise Eighty Only
73.40	Long point (up to 10 mtr)	9.000	P. Point	398.40	3585.60	INR Three Thousand Five Hundred & Eighty Five and Paise Sixty Only
74.00	S&F following sizes (dia.) of ISI marked medium duty PVC conduit along with accessories in surface / recessed using saddles, clamps, fastener as required including cutting the wall, covering conduit and making good the same as required.					
74.10	20 mm	250.000	R.Mtr	25.60	6400.00	INR Six Thousand Four Hundred Only
74.20	25 mm	100.000	R.Mtr	33.60	3360.00	INR Three Thousand Three Hundred & Sixty Only

Bidder Name :		-				
	<u>P1</u>	RICE SCHE	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
75.00	Supplying and drawing FR PVC insulated & unsheathed flexible copper conductor ISI marked (IS:694) of 1.1 kV grade and approved make in existing surface or recessed					
	conduit/casing capping including making connections etc. as required.					
75.10	2 x 2.5 sq. mm. + 1x1.5sqmm	80.000	Mtr	42.40	3392.00	INR Three Thousand Three Hundred & Ninety Two Only
75.20	2 x 4.0 sq. mm. + 1 x 2.5 sq. mm	120.000	Mtr	61.60	7392.00	INR Seven Thousand Three Hundred & Ninety Two Only
75.30	2 x 6.0 sq.mm	120.000	Mtr	71.20	8544.00	INR Eight Thousand Five Hundred & Forty Four Only
76.00	P&F 240/415 V AC MCB with positive isolation of breaking capacity not less than 10 KA (B/ C/ D tripping characteristic) ISI marked IS 8828(1996)]/ conforming to IEC 60898 in existing board/sheets including making connections, testing					
76.10	etc. as required. Single pole MCB					
76.20	6 A to 32 A rating	16.000	Each	120.80	1932.80	INR One Thousand Nine Hundred & Thirt Two and Paise Eighty Only
76.30	Double pole MCB					
76.40	6 A to 32 A rating	10.000	Each	320.80	3208.00	INR Three Thousand Two Hundred & Eight Only
76.50	Four pole MCB					
76.60	40 A 63 A rating	1.000	Each	1102.40	1102.40	INR One Thousand Or Hundred & Two and Paise Forty Only
77.00	P&F Recessed/ Surface mounting heavy duty horizontal type sheet steel Distribution board phophatised/ powder painted complete with suitable rating insulated copper bus bar, shorting link, neutral link, earth link and din bar,masking sheet, conforming to IS13032 & IS8623 including making internal DB terminations with copper lugs, testing etc. as required.					

Bidder Name :						
	PI	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
77.10	Single door (single phase)					
77.20	8 Way	4.000	Each	444.00	1776.00	INR One Thousand Seven Hundred & Seventy Six Only
78.00	Making of hole in wall of required size for housing exhaust fan and making good the same, with cement plaster as required of following size:					
78.10	Up to 457 mm size					
79.00	Supplying and drawing PVC/ Polythene insulated and PVC sheathed unarmoured/ armoured telephone cable with 0.5 mm dia. Tinned / annealed copper conductor taped &confirming to ITD specification S/WS -113C of approved make in existing surface or recessed conduit/casing capping. Unarmoured Telephone cable in existing surface or recessed conduit/casing capping.					
79.10	2 pair	50.000	Mtr	10.40	520.00	INR Five Hundred & Twenty Only
80.00	P & F 18 swg M.S. Recessed fan box, hexagonal/round of size 130 mm dia, depth 75mm, 12 mm dia rod fan hook with 100 mm length extended on each side.	4.000	Each	76.00	304.00	INR Three Hundred & Four Only
81.00	P & F following modular accessories made out of unbreakable and fire retardant poly carbonate with s					
81.10	16 A one way switch	30.000	Each	110.40	3312.00	INR Three Thousand Three Hundred & Twelve Only
81.20	16 A 6 pin shuttered socket	8.000	Each	151.20	1209.60	INR One Thousand Two Hundred & Nine and Paise Sixty Only
81.30	2 pin Telephone socket	4.000	Each	110.40	441.60	INR Four Hundred & Forty One and Paise Sixty Only
81.40	RJ-11 telephone jack single two line	4.000	Each	68.80	275.20	INR Two Hundred & Seventy Five and Paise Twenty Only
81.50	5 step fan regulator 2 Module	4.000	Each	368.00	1472.00	INR One Thousand Four Hundred & Seventy Two Only

Bidder Name :						
	PI	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
82.00	Pipe Earthing as per IS:3043 with perforated 3.0 Mtr. Long, 40 mm dia. 'B' class G.I. Pipe including all accessories like nut, bolts, reducer, nipple, wire meshed funnel, and C.C. finished chamber covered with hinged type with locking arrangement C.I. Cover, C.I. Frame of size 300mm x 300 mm and embodying the pipe complete with alternate layers salt and coke/ charcoal, testing of earth resistance as required.	2.000	Set.	1320.00	2640.00	INR Two Thousand Six Hundred & Forty Only
83.00	S & Laying following size earth wire/strip in horizontal or vertical run in ground/surface/recess including riveting, soldering, saddles, making connection etc. as required.					
83.10	10 SWG G.I. (Hot Dipped) Wire	30.000	Mtr	4.80	144.00	INR One Hundred & Forty Four Only
83.20	20mm x 3mm G.I. (Hot Dipped) Strip	30.000	Mtr	37.60	1128.00	INR One Thousand One Hundred & Twenty Eight Only
84.00	P & F energy efficient / energy saving direct fit (Retrofit) composite self ballasted compact fluorscent lamp (CFL) with PF >0.85 in existing holder / fixture as required.					
84.10	18/20 Watt	20.000	Each	188.80	3776.00	INR Three Thousand Seven Hundred & Seventy Six Only
85.00	P & F double ball bearing capacitor start, aluminium body & blade ceiling fan with down rod up to 30 cm with 3 x 1.5 sq.mm pvc insulated flexible copper conductor making connection testing etc. as required.					
85.10	900 mm sweep	15.000	Each	1093.60	16404.00	INR Sixteen Thousand Four Hundred & Four Only

Bidder Name :						
	<u> </u>	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
86.00	Supply &fixing of Fiber reinforced Ferro cement drain cover (light duty) designed for side drain for class "B" Road loading duly marked on cover with adequate steel reinforcement having thickness 50 mm to 75 mm anti corrosive					
	bitumen painted M.S. plate Rim and on M.S. lifting hooks additives & admixture like plasticizer shrinkage resistance compound abrasion resistant as per approved drawing and design complete in all respect					
87.00	for drain Opeining Size 701 to 1200 mm Standard Drain Cover Size 1500mm x 700mm x 70mm	160.500	Sqmm.	787.50	126393.75	INK One Lakh Twenty Six Thousand Three Hundred & Ninety Three and Paise Seventy Five Only
88.00	Extra for fixing marble /granite stone over and above 4.000 16.20 mtr 64.80 corresponding basic item, in facia and drops of width upto 150 mm with epoxy resin based adhesive including cleaning etc. complete	10.000	Mtr	16.20	162.00	INR One Hundred & Sixty Two Only
89.00	Providing and fixing 1st quality standard white, grey, ivory, fume red brown, light green, light blue and other light shades glazed tiles confirming to IS: 13753 & IS:15622 of size 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (excluding the cost of cement plaster on walls and pillar).	36.133	Sqmm.	462.60	16715.13	INR Sixteen Thousand Seven Hundred & Fifteen and Paise Thirteen Only
90.00	Providing and fixing 1st quality MAT finished ceremic tile size 300x300mm confirming to IS: 13755 and IS: 15622 colour such as white, grey, ivory, fume red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (including the cost of cement mortar bed 1:4).	13.284	Sqm	506.70	6731.00	INR Six Thousand Seven Hundred & Thirty One Only
91.00	Extra for using Marble printed / Granite shade or dark shade tiles instead of white, grey, ivory, fume red brown, light green, light blue and other light shades in glazed tiles and MAT finished tiles.	13.284	Sqm.	46.26	614.52	INR Six Hundred & Fourteen and Paise Fifty Two Only

Bidder Name :						
	<u>PI</u>	RICE SCHE	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
92.00	Extra for using size above 200x300mm in glazed tiles and for using 400mm x 400mm MAT finished tiles in place of 300mm x 300mm size.		Sqm.	46.26	614.52	INR Six Hundred & Fourteen and Paise Fifty Two Only
93.00	P & F 1st qualityVitrified Porcelain Polished tiles on floor, skirting and steps etc.in different si					
93.10	size 600 mm X 600 mm	64.401	Sqm.	839.70	54077.52	INR Fifty Four Thousand &Seventy Seven and Paise Fifty Two Only
94.00	Add extra for Fixing glazed/ Ceramic/ Vitrified floor tiles with cement based high polymer modified quick-set tile adhesive (Water based) conforming to IS: 15477, using 5kg. adhesive per sum of tile area, in average 3mm thickness instead of cement mortar.	64.401	Sqm.	136.12	8766.26	INR Eight Thousand Seven Hundred & Sixty Six and Paise Twenty Six Only
95.00	Providing and fixing aluminum work for doors ,windows, ventilators and partition with extruded built up standard tubular / appropriate Z sections and other sections of approved make conforming to IS:733 and IS:1285, fixed with rawl plugs and screws or with fixing clips ,or with expansion hold fasteners including necessary filling up of gap. at junctions , at top ,bottom and sides with required PVC/neoprene felt etc. Aluminium section shall be smooth ,rust free, straight ,mitered and jointed mechanically wherever required including cleat angle Aluminium snap beading for glazing /paneling , C.P. brass/ stainless steel screws Al. Tower bolt & Al. handle & Al. Aldrop etc.,all complete as per architectural drawings and the directions of Engineer- in - charge .(Glazing and paneling to be					
96.00	For fixed portion					
97.00	Anodised aluminum (anodised transparent 81 dyed to required shade according to IS: 1868. (Minimum anodic coating of grade AC 15, Anodizing to be got done from approved Anodizer)	1350.000	Kg.	261.90	353565.00	INR Three Lakh Fifty Three Thousand Five Hundred & Sixty Four and Paise One Hundred Only

Bidder Name :		_				
	<u>P1</u>	RICE SCHE	<u>DULE</u>			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
98.00	For shutters builtup standard tubular sections of openable					
	doors ,windows & ventilators including providing & fixing hinges / rollers etc. and making provision for fixing					
	of fittings wherever required (lockes shall be paid for separately).					
99.00	Anodised aluminum (anodised transparent 81 dyed to required					INR Two Lakh Ninety
	shade according to IS: 1868. (Minimum anodic coating of grade AC 15, Anodizing to be got done from approved Anodizer)		Kg.	280.80	294840.00	Four Thousand Eight Hundred & Forty Only
99.10	Green / Black					
100.00	1501 Cm2 to 3600 Cm2 Tiles	15.382	Sqmm.	2079.00	31979.18	INR Thirty One Thousand Nine Hundred & Seventy Nine and Paise Eighteen Only
101.00	Providing and fixing glazing in aluminium door, window ,ventilator shutters and partitions etc. with PVS /					
	neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in- charge.(Cost of aluminium snap beading shall be paid in basic item.)					
101.10	With float glass panes of 5.0 mm thickness (weight not less than 13.50 kg/sqm)	63.868	Sqm.	613.80	39202.18	INR Thirty Nine Thousand Two Hundred & Two and Paise Eighteen Only
102.00	Providing and fixing 100mm brass locks (best make of approved quality) for aluminium doors including necessary cutting and making good etc. complete.	2.000	Each	216.00	432.00	INR Four Hundred & Thirty Two Only
103.00	Providing and fixing aluminium round shape handle of outer dia 100mm with SS screws etc. Complete as per direction of Engineer-in-charge					
103.10	Anodized (AC 15) aluminium	4.000	Each	44.10	176.40	INR One Hundred & Seventy Six and Paise Forty Only
103.20	KITCHEN & LAB. SINKS:					
104.00	P & F Kitchen & Lab. Sink of approved make with C.I. brackets					
	duly painted, 40 mm C.P. waste coupling, C.P. Brass chain with rubber plug, 40 mm G.I. waste pipe up-to floor level					
	complete including cutting and making good the wall & floor:					

Bidder Name :		_				
	<u>P1</u>	RICE SCHE	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
105.00	1.0 mm thick Salem stainless steel AISI -304 & IS 13983-1994 kitchen sink of approved make as per Engineer-in-					
	charge with large waste coupling.					
106.00	Overall Size (inches) 24 x 18 x 8, Bowl Size (inches) 20x16x8	1.000	Each	3252.60	3252.60	INR Three Thousand Two Hundred & Fifty Two and Paise Sixty Only
107.00	Providing and fixing expanded grill made of aluminum as per design and drawing having members section of size 7.5mm x 6.0mm and opening of size 102mm x 99mm to aluminum window/vent with required screws, Y and H aluminium sec (as per drawing) at the ends and middle joints respectively complete in all respect as per direction of engineer in charge.					
108.00	Anodised aluminum (anodised transparent 81 dyed to required shade according to IS : 1868. (Minimum anodic coating of grade AC 15, Anodizing to be got done from approved Anodizer)	63.868	Sqm.	1332.00	85072.18	INR Eighty Five Thousand &Seventy Two and Paise Eighteer Only
109.00	Half brick masonry in Superstructure, above plinth level upto floor V level using bricks of designation 75					
110.00	Cement mortar 1:6 (1 cement: 6 coarse sand)	94.540	Sqm.	344.70	32587.94	INR Thirty Two Thousand Five Hundred & Eighty Seven and Paise Ninety Four Only
110.10	EXTERIOR FINISHING					
111.00	Painting exterior surface of Wall with 100% acrylic exterior paint of approved brand and manufacture to give an even shade with two or more coats including prepartion of base with sand papering, primer, putty, etc complete in all respect.					
112.00	New Work	992.960	Sqmm.	77.40	76855.10	INR Seventy Six Thousand Eight Hundred & Fifty Five and Paise Ten Only
112.10	P & F ISI marked 6 amp bakelite batten/angle holder including making connection testing etc. as required.	5.000	Each	16.00	80.00	INR Eighty Only
113.00	P & F Fluorscent tube rod in existing fixtures as required, Triphosphor coated (minimum 5 star rating)					

Bidder Name :						
i variic .	 	RICE SCHEI	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
114.00	36/40 Watts	16.000	Each	108.00	1728.00	INR One Thousand Seven Hundred & Twenty Eight Only
114.10	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint) / (extruded non corrosive UV resist EP channel) complete with accessories (Low Loss Copper Choke, starter, starter seat) / Electronic Choke with terminal block duly prewired with copper conductor including making connection, testing etc. as required(without tube).					
115.00	1 X 36 Watts with EB	15.000	Each	301.60	4524.00	INR Four Thousand Five Hundred & Twenty Four Only
116.00	Construction of Embankment with Material Obtained from Roadway Cutting Construction of embankment with approved materials deposited at site from roadway cutting and excavation from drain and foundation of other structures graded and compacted to meet requirement of Tables 300.1 and 300.2 as per MoRD Specification Clause 301.5	720.000	Cum.	31.50	22680.00	INR Twenty Two Thousand Six Hundred & Eighty Only
116.10	Construction of Embankment with Material Obtained from Borrow Pits					
117.00	Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5 m, transporting to site, spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 1000 m as per MoRD Specification Clause 301.5	480.000	Cum.	94.50	45360.00	INR Forty Five Thousand Three Hundred & Sixty Only
118.00	Excavation in Cutting in Soil					

Bidder Name :										
	PRICE SCHEDULE									
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words				
118.10	Excavation in Soil using Hydraulic Excavator and Tippers with disposal upto 1000 m Excavation for roadwork in soil with hydraulic excavator of 0.9 cum bucket capacity including cutting and loading in tippers, trimming bottom and side slopes, in accordance with requirements of lines, grades and cross-sections, and transporting to the embankment location with a lift upto 1.5 m and lead upto 1000 m as per MoRD Specification Clause 302.	1032.000	Cum.	26.10	26935.20	INR Twenty Six Thousand Nine Hundred & Thirty Five and Paise Twenty Only				
119.00	Compacting Original Ground									
	Compacting original ground supporting embankment Loosening, Levelling and Compacting original ground supporting embankment to facilitate placement of first layer of embankment, scarified to a depth of 150 mm, mixed with water at OMC and then compacted by rolling so as to achieve minimum dry density as given in Tables 300.1 and 300.2 for embankment construction as per MoRD Specification Clause 301.4.1. Gravel/Soil-Aggregate Base/Sub-base	164.000	Cum.	9.00	1476.00	INR One Thousand Four Hundred & Seventy Six Only				
121.00	Gravel/Soil Aggregate Base/Sub-base Nominal Maximum size Grading 80 mm (Table 2.3 of IRC SP 77-2008) Construction of Gravel / Soil Aggregate Sub-base/Base by providing well graded material of nominal maximum size grading 80 mm as per Table 2.3 of IRC SP 77-2008, spreading in uniform layers with tractor mount appropriate grading arrangements on prepared surface, mixing by mix in place method at OMC with tractor mount appropriate rotavator attachment and compaction with three wheel 80-100 KN Static Roller capacity to achieve the desired density complete as per specifications contained in Para 2.2, 3.6 and 3.7 of IRC SP	228.000	Cum.	531.00	121068.00	INR One Lakh Twenty One Thousand &Sixty Eight Only				
122.00	77-2008 Wet Mix Macadam	280.000	Cum.	1071.00	299880.00	INR Two Lakh Ninety Nine Thousand Eight Hundred & Eighty Only				

Bidder						
Name :	n	DICE COLLE	MILE			
S1.	Item Description	RICE SCHEI Quantity	Units	Estimated	TOTAL	TOTAL AMOUNT
No.	item Description	Qualitity	Cints	Rate	AMOUNT	In Words
122.10	Duravi din a lavima amusa din a and asmanastin a anada d					
123.10	Providing, laying, spreading and compacting graded stone					
	aggregate to wet mix macadam specification					
	including					
	premixing the material with water at OMC in mechanical mixer					
	(Pug Mill), carriage of mixed material by tipper to					
	site, laying in uniform layers in sub-base/base course on a well					
	prepared					
	sub-base and compacting with smooth wheel roller of					
	80 to					
	100kN weight to achieve the desired density including lighting,					
	barricading and maintenance of diversion, etc as per					
	Tables					
	400.11 & 400.12 and MoRD Specification Clause 406. By					
	Mechanical Means with 1 km lead					
123.00	Prime Coat					
124.00	Low porosity					
		1200.000	Cum.	31.50	37800.00	INR Thirty Seven Thousand Eight
				0 2.00		Hundred Only
124.10	Providing and applying primer coat with bitumen					
	emulsion					
	(SS-1) on prepared surface of granular base including					
	cleaning of road surface and spraying primer at the rate of					
	0.70-1.0					
	kg/sqm using mechanical means as per MoRD					
	Specification Clause 502					
125.00	Tack Coat					
126.00	Providing and applying tack coat with Bitumen					
120.00	emulsion (RS-1)					
	using emulsion distributor at the rate of 0.20 to 0.25		_			INR Eleven Thousand
	kg per	1250.000	Cum.	9.00	11250.00	Two Hundred & Fifty Only
	sqm on the prepared bituminous surface cleaned with Hydraulic					Only
	broom as per MoRD Specification Clause 503.					
126.10	Providing and applying tack coat with Bitumen emulsion (RS-1)					
	using emulsion distributor at the rate of 0.25 to 0.30					
	kg per					INR Thirteen Thousand
	sqm on the prepared granular surfaces treated with	1250.000	Cum.	10.80	13500.00	Five Hundred Only
	primer & cleaned with Hydraulic broom as per MoRD					
	Specification Clause					
	503.					

Bidder Name :	-							
- Tunite T	PRICE SCHEDULE							
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
	Providing and laying dense graded bituminous macadam with 100-120 TPH batch type HMP producing an average output of 75 tones per hour using crushed aggregates of specified grading, premixed with bituminous binder @ 4.0 to 4.5 per cent by weight of total mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MoRT&H Specifications Clause 507 complete in all respects.							
128.00	for Grading I (40 mm nominal size)							
129.10	In MT	127.500	P.M.T	2511.00	320152.50	INR Three Lakh Twenty Thousand One Hundred & Fifty Two and Paise Fifty Only		
129.00	for Grading II (19 mm nominal size)							
	Providing and laying bituminous concrete with 100-120 TPH batch type hot mix plant producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with bituminous binder @ 5.4 to 5.6 per cent of mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MoRT & H Specifications Clause 509 complete in all respects							
130.10	for Grading-I (19 mm nominal size) Bitumen (VG-10)	150.200	P.M.T	2880.00	432576.00	INR Four Lakh Thirty Two Thousand Five Hundred & Seventy Five and Paise One Hundred Only		
131.00	SAND STONE FLOORING					7,1114		
132.00	Random rubble dry stone Kharanja under floor.	15.295	Cum.	581.40	8892.51	INR Eight Thousand Eight Hundred & Ninety Two and Paise Fifty One Only		

Bidder Name :									
	PRICE SCHEDULE								
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words			
132.10	Construction of Tube-well upto 100 Meter depth and above in								
	all type of rocks by DTH system and over burden, to accommodate casing pipe of following sizes in all types of soils								
	and over burden including lowering of casing pipes, but								
	excluding cost of casing pipes as per IS : 2800 (Part I & II)								
	1979 specifications. The work would be completed after								
	obtaining sand free water. The tube well should have a								
	throughout bore as per nominal dia of casing pipe:								
133.00	200 mm dia Nominal bore.	125 000	27.6	7.0.5 0	00000	INR Ninety Two Thousand Eight			
		125.000	R.Mtr	742.50	92812.50	Hundred & Twelve and Paise Fifty Only			
134.00	Construction of tube-well from ground levels and upto 100								
	Meter depth and above to accommodate housing and assembly								
	pipe of following sizes in all types of alluvium strata by								
	percussion/ rotary drilling method and with gravel as per IS:4097-1967 and packing as per IS:2800 (Part I -& II)								
	1979 as amended upto date (the work includes the cost of gravel &								
	its primary packing and packing during development, lowering								
	of housing & strainer assembly pipes, with supply and wrapping of coir-rope, wherever necessary, for arresting fine sand								
	particles. The work will not include cost of housing pipe and								
	strainer pipe assembly and development work, but work would be completed after obtaining sand free water)								
134.10	200 mm Nominal Bore.	50.000	R.Mtr	1089.00	54450.00	INR Fifty Four Thousand Four Hundred & Fifty Only			
135.00	Development of tube well as per IS specification using suitable compressor to give sand free water for required yield of the	12.000	Hours	445.50	5346.00	INR Five Thousand Three Hundred & Forty Six Only			
136.00	gravel packed tube well. Supply of ERW M.S. black casing pipe ISI marked (IS:4270/1992) of grade Fe410 of following sizes at site of								
	work. Nominal bore of pipe (mm)								
136.10	200 Nominal bore of pipe (mm)	45.000	Mtr	1413.00	63585.00	INR Sixty Three Thousand Five Hundred & Eighty Five Only			

Bidder Name :		_							
	PRICE SCHEDULE								
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words			
137.00	S&F tube well cover (for 200 mm dia pipe) of MS sheet 8 mm thick at top & 5 mm thick 100 mm wide shroud around the edge so as to form a cap on the top end of casing pipe with GI Nipple 45 cm long & two GI flanger at both end in 80 mm sizes passing through a hole in the centre of MS shet A 25 mm socket with end plug shall also be weld over top plate (as per drawing enclosede), A GI nipple having outside thread of size 1/2" (for installation pressure gauge) shall be	2.000	Each	908.00	1816.00	INR One Thousand Eight Hundred & Sixteen Only			
138.00	provide & welded with GI 80 mm nipple near top plate nipple shall be provided with end plug.) (D-547 dt. 20.12.2011) Providing fixing and installation of 80 mm dia								
	Woltman type water meter with material (Flanges, Insertion sheet, Nut bolt etc.) &fabrication supply and fixing of meter box made of 10 SWG MS sheetsuitable for 80 mm water meter (As per drawing including all accessories.) 50 mm to 80 mm dia (D-547 dt. 20.12.2011)	4.000	Each	22997.00	91988.00	INR Ninety One Thousand Nine Hundred & Eighty Eight Only			
138.10	Providing and installing of approved make spring loaded dual plate check valve of following dia. Including all taxes , inspection charges, loading and unloading, stacking etc., including cost of all labour, jointing material with nut bolts, rubber mats etc., and giving satisfactory hydraulic field testing, complete as per specifications.(D-547 dt. 20.12.2011)								
139.00	50 mm	4.000	Each	1571.00	6284.00	INR Six Thousand Two Hundred & Eighty Four Only			
140.00	Providing & lowering of G.I. Pipes, flange pipe including rubber washer and nuts of 8 mm dia complete in all respect I.S.1239 Marked.								
140.10	B Class 50 mm dia	170.000	R.Mtr	369.00	62730.00	INR Sixty Two Thousand Seven Hundred & Thirty Only			
141.00	Earth, Sand, Lime, Morrum manure or sludge								

Bidder Name: PRICE SCHEDULE **Estimated** S1. Item Description Quantity Units **TOTAL** TOTAL AMOUNT **AMOUNT** No. Rate In Words 142.00 Add for each 1 Km beyond 1st Km(upto 5 Km.) INR Two Thousand 900.000 2.70 2430.00 Cum. Four Hundred & Thirty Only 142.10 Supply of strainer pipes made of ERW M.S. black pipe ISI mark of following sizes at the site of work including required size of slotting as per IS:8110-1985. 143.00 200 mm Nominal Bore. INR Sixteen Thousand 10.000 Mtr 1638.00 16380.00 Three Hundred & Eighty Only 144.00 Supply and fixing & testing of feeder type penal board suitable for upto 15 HP electric motor having star delta/ DOL starter (L&T/BCH), MCB 32 amp.(havals/L&T), capacitor 3 KVR L&T/Havals), Single phase priventor(L\$T/havals),indicating lamp RYB, Amp. Meter (0 to 30Amp), Volt Meter with slector switch (0 to 500 V) size 100 mm, kit kat fuse unit 100 amp, backlite sheet for fixing of 3 phase electric meter of JVVNL electric feeder penal approved as per design and specification mounted on angle iron fram and fixed plain on plain concrete plateform, size of feeder penal box 900X 450X1200mm (D-547 dt. 20.12.2011) 144.10 Star Delta above 5 HP to 15 HP INR One Lakh Twenty **Four Thousand Five** 5.000 24915.00 124575.00 Each **Hundred & Seventy Five** Only 145.00 SITC of radial / mixed flow submersible motor pump sets ISI marked (IS:8034-1989) of approved make with required accessories including making connection suitable for T.W./ D.C.B./ Open well. The job includes lowering of riser G.I./ H.D.P.E. pipe with rope, cables, installation of complete fitting and accessories, jointing of electrical cables up to switch board. All labour for testing of submersible pumps set and supply of water to water mains, complete in all 146.00 100 mm diameter Submersible pump shall have following HP Rating, phase, Head, minimum Discharge respectively.

Bidder Name :								
PRICE SCHEDULE								
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
146.10	5.0 HP, 1-Ø, (55-150)Mtr, (166-60)LPM	5.000	Each	24140.80	120704.00	INR One Lakh Twenty Thousand Seven Hundred & Four Only		
147.00	P/Laying P.V.C. / XLPE insulated & P.V.C. sheathed cable of 1.1 KV grade with aluminium conductor of IS:1554 P-I / IS:7098 P - I of Group 1 of approved make in ground as per IS:1255 including excavation of 30cmx75cm size trench, 25 cm thick under layer of sand,IInd class bricks covering, refilling earth,compaction of earth, making necessary connection, testing etc. as required of size.							
148.00	4 core 10.0 Sq.mm	205.000	Mtr	136.00	27880.00	INR Twenty Seven Thousand Eight Hundred & Eighty Only		
148.10	2 core 10.0 Sq.mm	415.000	Mtr	109.60	45484.00	INR Forty Five Thousand Four Hundred & Eighty Four Only		
149.00	3.5 core 25.0 Sq.mm	610.000	Mtr	166.40	101504.00	INR One Lakh One Thousand Five Hundred & Four Only		
150.00	3.5 core 240.0 Sq.mm	220.000	Mtr	901.60	198352.00	INR One Lakh Ninety Eight Thousand Three Hundred & Fifty Two Only		
	P/Laying ISI marked P.V.C. insulated submersible cable confirming to IS:694 with flexible copper conductor including making connection etc. as required.							
151.00	4.0 Sq.mm 3 core flat / Round	170.000	Mtr	102.40	17408.00	INR Seventeen Thousand Four Hundred & Eight Only		
	P & F in position frame made out of M.S. angle (riveted or welded) finished with two coats of red oxide and enamel paint including cutting, welding, holes etc.of following sizes as required.							
152.10	50mm x 50mm x 6mm	30.000	Mtr	250.40	7512.00	INR Seven Thousand Five Hundred & Twelve Only		

Bidder Name :									
Name :	PRICE SCHEDULE								
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words			
153.00	SITC of wall/ free standing floor mounted dust and vermin proof compartmentalised cubical panel made out of CRCA sheet, required hardware, duly treated for derusting in 7 tank process with dephosphating and with powder coating on both side of panel in desired shade The panel having PU/ Neoprene rubber gasket of not less than 3mm thickness, separate detachable gland plate M.S. base channel, hinged door with locking arrangement for equipment/switchgear. Thickness of sheet shall not be less than 1.6 mm up to 600 mm length/ width of any compartment and be of 2.0 mm above 600 mm. Load bearing structure shall be of 2.0 mm thick sheet supported by base M.S. channel if required. Side walls and cable alley compartments having bolted type doors with / without detachable extension type structure. (only outer area on all sides shall be measured & panel to be fabricated from CPRI approved fabricator)	65.560	Sqmm.	2201.60	144336.90	INR One Lakh Forty Four Thousand Three Hundred & Thirty Six and Paise Ninety Only			
154.00 154.10	Supplying and fixing of Aluminium / Copper bus bar by means of SMC / DMC type insulator, high tensile nuts and bolts spring washers in existing panel including bending , cutting in required shape and size and colour coding with heat shrinkable PVC sleeves. Electrolytic grade Aluminium bus bar S & F of Electrical insulating rubber matts confirming	8.000	Kg.	336.00	2688.00	INR Two Thousand Six Hundred & Eighty Eight Only			
	to IS: 15652 / 2006 with one side anti skid abberation marks and pasting the mat with synthetic rubber adhesive as required.								
156.00	11 KV, 2.5 mm thick with proof voltage 22 KV / 3 min. and Break Down Voltage 45 KV	200.000	Sqmm.	1840.00	368000.00	INR Three Lakh Sixty Eight Thousand Only			

Bidder Name :								
PRICE SCHEDULE								
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
156.10	P & F of ac operated heavy duty 230 /440 Volt power contactor conforming to IS:13947-4-1/IEC:947-4-1 having provision of mechanical interlocking, auuxilary contacts, Din rail mounting type including making connections, testing etc. as required.							
157.00	4 pole Power contactors with following AC 1 Rating							
158.00	63 Amp	2.000	Each	2828.80	5657.60	INR Five Thousand Six Hundred & Fifty Seven and Paise Sixty Only		
158.10	P & F push button actuators and integral contact block of dia. 22.5 mm including making connection etc. as required.							
159.00	Non luminous type	4.000	Each	68.00	272.00	INR Two Hundred & Seventy Two Only		
160.00	P&F of mechanical / digital time switch having following day / week programme and minimum 100 hours reserve and AC1 rating of 16-20 amperes including making connection, programming etc. as required							
160.10	One day & week reserve (digital type)	2.000	Each	4596.80	9193.60	INR Nine Thousand One Hundred & Ninety Three and Paise Sixty Only		
161.00	SITC of quick make and quick break 3 pole current limiting MCCB having following current rating, short circuit breaking capacity at 440/415 V, 50 Hz; O/L & S/C settings and conforming to IS 60947-2 / IEC 60947-2 with front face and centralised adjustable, line load interchangeability, having positive isolation capability, provision for UVR , shunt trip , earth fault trip , push (test) to trip, including making connections with lugs & spreaders, etc. as required.							
162.00	With Thermal Magnetic release							
162.10	up to 100 Amp , 25 kA, adjustable O/L & fixed S/C setting, Ics = 100 % Icu	4.000	Each	3825.60	15302.40	INR Fifteen Thousand Three Hundred & Two and Paise Forty Only		

Bidder Name: PRICE SCHEDULE S1. Item Description Quantity Units **Estimated TOTAL** TOTAL AMOUNT **AMOUNT** No. Rate In Words 163.00 SITC of quick make and quick break 4 POLE current MCCB having following current rating, short circuit breaking capacity at 440/415 V, 50 Hz; O/L & S/C settings and conforming to IS 60947-2 / IEC 60947-2 with front face and centralised adjustable, line load interchangeability, having positive isolation capability, provision for UVR shunt trip ,earth fault trip, push (test) to trip , including making connections with lugs & spreaders, etc. as required. 164.00 With Thermal Magnetic release 164.10 400 Amp ,35 kA, adjustable O/L & adjustable S/C **INR Thirty Eight** setting, Ics Thousand One Hundred 2.000 Each 19056.80 38113.60 = 100 % Icu & Thirteen and Paise Sixty Only 165.00 P/Laying P.V.C. / XLPE insulated & P.V.C. sheathed cable of 1.1 KV grade with Copper conductor of IS:1554 P-I / IS :7098 P - I of Group 1 of approved make in ground as per IS:1255 including excavation of 30cmx75cm size trench, 25 cm thick under layer of sand, IInd class bricks covering, refilling earth,compaction of earth, making necessary connection, testing etc. as required of size 166.00 2 core 2.5 Sq.mm **INR Seventy Nine** 810.000 97.60 79056.00 Thousand &Fifty Six Mtr Only 166.10 8 core 2.5 Sq.mm INR One Lakh Thirty 550.000 Mtr 243.20 133760.00 Three Thousand Seven Hundred & Sixty Only 167.00 12 core 2.5 Sq.mm INR One Lakh Sixty **Eight Thousand Five** 550.000 Mtr 306.40 168520.00 Hundred & Twenty Only 168.00 4 core 4.0 Sq.mm INR One Lakh Twenty **Eight Thousand Nine** 550.000 128920.00 Mtr 234.40 Hundred & Twenty Only

Bidder Name :		-							
PRICE SCHEDULE									
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words			
168.10	Supplying and making one end termination with heavy duty								
	single compression brass gland SIBG type, heavy duty								
	aluminium lugs duly crimped with crimping tool, PVC tape etc								
	for following size of Armoured PVC insulated & PVC sheathed/								
	XLPE aluminium conductor cable of 1100 volt grade as required of size.								
169.00	3.5 x 25.0 sq.mm								
103.00	010 N 2010 Squittin	14.000	Per Set.	91.20	1276.80	INR One Thousand Two Hundred & Seventy Six and Paise Eighty Only			
170.00	3.5 x 240.0 sq.mm	4.000	Per Set.	373.60	1494.40	INR One Thousand Four Hundred & Ninety Four and Paise Forty Only			
170.10	P & Laying XLPE insulated IS:7098/II/85 of Group1								
	and approved make H.T.cable for working voltage 11 K.V.Earthed								
	direct in ground including excavation of 30cmx100cm size								
	trench, 25cm layer of river sand, IInd class bricks covering,								
	refilling earth, compaction of earth, making necessary connection testing etc.as required of size.								
171.00	3 core 70.0 Sq.mm	225.000	Mtr	603.20	135720.00	INR One Lakh Thirty Five Thousand Seven Hundred & Twenty Only			
172.00	3 core 185.0 Sq.mm	1050.000	Mtr	1012.80	1063440.00	INR Ten Lakh Sixty Three Thousand Four Hundred & Forty Only			
172.10	3 core 300.0 Sq.mm	670.000	Mtr	1359.20	910664.00	INR Nine Lakh Ten Thousand Six Hundred & Sixty Four Only			
173.00	Providing & making heat shrinkable type indoor/outdoor/straight through terminations/joint								
	kit of Group1 and approved make suitable for XLPE								
	insulated 11 KV $\!\!/$ 33 KV cable, with required components, prepration of cable								
174.00	ends,testing etc. as required of following sizes . 11 KV End Termination Kit Indoor type								
174.10	3 core 70/95 Sq.mm								
		2.000	Set.	3600.00	7200.00	INR Seven Thousand Two Hundred Only			

Bidder Name :											
	PRICE SCHEDULE										
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words					
175.00	3 core 120/150/185/225 Sq.mm	8.000	Set.	4000.00	32000.00	INR Thirty Two Thousand Only					
176.00	3 core 240/300 Sq.mm	4.000	Set.	4360.00	17440.00	INR Seventeen Thousand Four Hundred & Forty Only					
176.10	11 KV End Termination Kit Outdoor type										
177.00	3 core 70/95 Sq.mm	2.000	Set.	4560.00	9120.00	INR Nine Thousand One Hundred & Twenty Only					
178.00	3 core 120/150/185/225 Sq.mm	7.000	Set.	5200.00	36400.00	INR Thirty Six Thousand Four Hundred Only					
178.10	3 core 240/300 Sq.mm	4.000	Set.	5600.00	22400.00	INR Twenty Two Thousand Four Hundred Only					
179.00	33 KV End Termination Kit Outdoor type										
180.00	3 core 240/400 Sq.mm	4.000	Set.	8085.12	32340.48	INR Thirty Two Thousand Three Hundred & Forty and Paise Forty Eight Only					
180.10	P & Laying XLPE insulated IS:7098/II/85 of Group1 and approved make H.T.cable for working voltage 33 K.V.Earthed direct in ground including excavation of 30cmx120cm size trench, 25cm layer of river sand, IInd class bricks covering, refilling earth, compaction of earth, making necessary connection testing etc.as required of size.										
181.00	3 core 300.0 Sq.mm	700.000	Mtr	1988.80	1392160.00	INR Thirteen Lakh Ninety Two Thousand One Hundred & Sixty Only					
182.00	Plate Earthing as per IS:3043 with copper Earth plate of size 600mm x 600mm x 3.0mm by embodying 3 to 4 mtr. below the ground level with 25 mm dia. G.I. 'B' class watering Pipe including all accessories like nut, bolts, reducer, nipple, wire meshed funnel, and C.C. finished chamber covered with hinged type with locking arrangement C.I. Cover, C.I. Frame of size300mm x 300mm complete with alternate layers of salt and coke/charcoal, testing of earth resistance as required.	14.000	Set.	7360.00	103040.00	INR One Lakh Three Thousand &Forty Only					

Bidder Name: PRICE SCHEDULE Item Description Quantity S1. Units **Estimated TOTAL** TOTAL AMOUNT **AMOUNT** In Words No. Rate 182.10 Supply and erection of GI Octagonal / Conical pole of following length and dimension as per table E-10 with base plate on the cement concrete foundation of M-20 grade (1:1.5:3) with the help of anchor bolts of grade 6.8 (IS: 1367 P III). The pole shall have a weatherproof flush door and locking arrangements. The complete work shall be supervised and certified by the manufacturers for satisfactory supply, erection, testing and commissioning 183.00 Octagonal MS Poles made of S-355JO grade steel sheet, folded lengthwise to obtained Octagonal shape, having single longitudinal seam weld and hot dipped galvanised internally & externally in accordance with IS 2629. (See Table E -10 for specs.) 184.00 9 Mtr. INR Two Lakh Forty One Thousand Nine 18.000 Each 13440.00 241920.00 Hundred & Twenty Only 184.10 Supply, Erection and Fixing of hot dipped galvanised (48.3 X 3.25 mm) with cap (400 x 88.9 / 114.3 x 3.25 over the existing poles 185.00 Single arm overhang INR Twelve Thousand 18.000 Mtr 712.00 12816.00 Eight Hundred & Sixteen Only

Bidder						
Name :	DI	DICE CCHE	THE.			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
				Tute	111100111	III VVOIGS
186.00	P & F of IP 65 protected LED Flood Light Luminaire made of single piece powder coated pressure die cast/Extruded Aluminium housing with heat dissipation fins on housing, Toughened glass cover with suitable lens on LEDs to achieve various beam angles. Input power (including driver loss) not more than 40W/60W/ 90W/120W/160W with luminous Efficacy > 80 Lumen/W (WARM WHITE) & > 85 Lumens / w (cool white) (As per LM79). Appropriate beam angle lens 45?/60?/80?/70?x140? (High Mast) to be used as per requirement. LEDs of Cree/Nichia/Osram/Philips make is to be used at 1W/2W, CRI > 70 and CCT 2700 K - 6500K. The integral SMPS based electronic driver must have efficiency > 85%, Power factor > 0.95, THD < 20% and input Voltage range of 90-270 VAC at 50 Hz. System life of 25000 Burning Hours with 70% of initial Lumens maintained. Fixtures must					
	be in compliance with IS/CE Standards. Approved make:					
	Philips, Bajaj.					
186.10	High Power LED Flood Light 60W	18.000	Each	8800.00	158400.00	INR One Lakh Fifty Eight Thousand Four Hundred Only

Bidder Name :						
	<u>P1</u>	RICE SCHEI	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
187.00	P & F of IP 65 protected LED Street Light Luminaire on existing brackets. Fixture made of powder coated single piece pressure die cast aluminium housing with heat dissipation fins on housing with UV stablized PC/ Toughened glass cover and lens/ reflector. Input power (including driver loss) range from 20-25W/30-40W/80-90W/ 110-120W with luminous Efficacy > 80 Lumen/W (warm white) & > 85 lumen/W (cool white) (As per LM79). LEDs of Cree/Nichia/OSram/Philips make is to be used at 1W/2W per LED, CRI > 70 and CCT 2700 K - 6500K. The integral SMPS based electronic driver must have efficiency > 85%, Power factor > 0.95, THD < 20% and input Voltage range of 90-270 VAC at 50 Hz. System life of 25000 Burning Hours with 70% of initial Lumens maintained. Fixtures must be in compliance with IS/CE Standards. Approved make: Philips Baiai Surva IP - 65 Protected LED Street Light Luminaire					
188.10	LED Street Light fixture 110-120 Watt	18.000	Each	18920.00	340560.00	INR Three Lakh Forty Thousand Five Hundred & Sixty Only
189.00	Supply and fixing of 11kV, 400 Amp 3pole, central pot rotating double break type isolator (IS:9921 part I toV) without earth blade operating mechanism with GI spring loaded reverse loop type fixed contact, solid hard drawn electolytic copper tubular moving contact with silver/ nickel plated at end points, 9 nos post insulator of 12 kV (IS:2554 & IS 5350 part III), hot dipped galvanising hard ware, nut, bolts etc complete in all respect as per specification of Discom.(Type tested by ERDA/CPRI.)	24.000	Each	10520.00	252480.00	INR Two Lakh Fifty Two Thousand Four Hundred & Eighty Only
190.00	Supply and fixing of distribution type Lightening arrestor 9 kV, 10 kA (IS:3070) with mounting breaking to be installed on existing DP structure. (Type tested by ERDA/CPRI.)		Each	1908.00	34344.00	INR Thirty Four Thousand Three Hundred & Forty Four Only

Bidder Name: PRICE SCHEDULE Item Description TOTAL S1. Quantity Units **Estimated** TOTAL AMOUNT **AMOUNT** No. Rate In Words 190.10 Supply & Erection of lattice structure of height 11 mtr alignment, including excavation of pit and Providing of cement concrete in ratio 1:3:6 using 43 grade cement, river sand and 12 mm to 20 graded blast crusher broken in pit/ INR One Lakh Forty Six found cement plaster upto 0.50mtr. from top to 6.000 24400.00 146400.00 Each Thousand Four Hundred bottom in Only 1:3:6 ratio and paint of tower of approved make two red oxide paint and one coat of aluminium paint before installation and one coat of paint after irrection work completed as per technical specifications & drawing of DISCOM. 191.00 Supply and fixing 33kV Disc insulator 120KN (IS 731/1971) with minimum creepage distance of 300mm on existing bracket including all accessories like hot dipped GI spindle and nuts etc (as per specification of Discom) 192.00 B & S type hardware 120KN INR Ten Thousand Two 17.000 600.00 10200.00 Each Hundred Only 192.10 B & S disc insulator 120KN INR Eighteen Thousand 36.000 500.00 18000.00 Each Only 193.00 SITC of battery bank of min 150 AH capacity comprising SMF/VRLA batteries, MS / Teakwood battery stand interconnect wiring etc as required complete in all respect of rating: 194.00 110 V DC INR Three Lakh Six 153000.00 306000.00 2.000 Each Thousand Only 194.10 SITC of FCBC (Float cum boost charger)suitable for +/-10%, 50 Hz , 1-? / 3 -? Input & 24/ 48 /110 V DC OutputNatural Cooled, free standing in Sheet Steel enclosure,SCR controlled , regulation +/-1% Efficiency > 75% on FLAC/ DC Instruments, Selector Switch ,Built in DC Distribution Board (6 No MCB), indication, control as required of following rating:

Bidder						
Name :	DI	RICE SCHEI	DIII E			
Sl.	Item Description	Quantity	Units	Estimated	TOTAL	TOTAL AMOUNT
No.	Hent Description	Qualitity	Units	Rate	AMOUNT	In Words
195.00	25 A + 25 A					
		3.000	Each	67500.00	202500.00	INR Two Lakh Two Thousand Five Hundred Only
196.00	Supply & fabrication steel structure with MS channel / angle / joist / ISMB / sheet etc. including welding, rivetting, cutting, nut & bolt , Painting etc. as required.	3200.000	Kg.	67.20	215040.00	INR Two Lakh Fifteen Thousand &Forty Only
196.10	Supply and erection of 7.5 Mtr. "AB-1" type substation structure fabricated from M.S. Angle $65 \times 65 \times 6$ mm with bracing of M.S. Flat 50×6 mm including excavation of pits of size $1 \times 1 \times 1.25$ meter (as per specification & drawing approved by Nigam) Steel Wt. 350 Kg. Each structure.	12.000	Nos.	19000.00	228000.00	INR Two Lakh Twenty Eight Thousand Only
197.00	33 KV Sub-station type (30KV 10 KA Sub-station Class)	6.000	Set.	17995.00	107970.00	INR One Lakh Seven Thousand Nine Hundred & Seventy Only
198.00	Supply and eretion of 4.3 Mtr. long"C" type beam fabricated from ISA M.S. angle 65 X 65 X6mm with bracing of M.S. flat 50 X 6mm of "AB" and AB structure with nut and bolts 5" dia (as per specification & drawing approved by Nigam) steel wt. 195Hg. Each Structure.	6.000	Set.	13000.00	78000.00	INR Seventy Eight Thousand Only
198.10	Providing and fixing of G.I. Pipe of 125 mm diameter. B-Class (IS:1239 mark), at the starting and finishing point of 11 KV underground cables and to lay & clamp vertically with the existing support including labour charges.	33.000	Mtr	950.00	31350.00	INR Thirty One Thousand Three Hundred & Fifty Only
199.00	Constn. of 33/11 KV Transformers plate form 2.4 × 2.4 × 2.0 Mtrs. including excavation in all type of soil up to the depth of 900 mm, foundation concrete in C.C 1:5:10 for 150 mm thickness brick masonary in cement mortar of mix. 1:8 with top of the plate form finished with 100 mm layer of C.C. 1:2:4 alongwith 2 Nos. M.S. Rails 90 Pounds of 2.4 Mtr. length each, alongwith cement plaster - 20 mm thick of mix ration 1:6, on all the exposed surfaces of the plate form - complete in all respect.	2.000	Each	20000.00	40000.00	INR Forty Thousand Only

Bidder Name :								
	<u>PI</u>	RICE SCHE	DULE					
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words		
200.00	Constn. of 33 KV Kiosk/VCB Plate form 3.0 × 1.3 × 1.3 Mtrs. mm, foundation concrete in C.C 1 : 5 : 10 for 150 mm thickness, stone masonary in cement mortar of mix. 1:8 with top of the plate form finished with 100 mm layer of C.C. 1:2:4 including fixing of foundation bolts and cement plaster - 20 mm thick of mix ration 1 : 6, on all the exposed surfaces of the plate form - complete in all respect.	8.000	Each	7000.00	56000.00	INR Fifty Six Thousand Only		
	Supply and erection of 6.0 Mtr. "AB-1" type substation structure fabricated from M.S. Angle $65 \times 65 \times 6$ mm with bracing of M.S. Flat 50×6 mm including excavation of pits of size $0.9 \times 0.9 \times 1$ meter (as per specification & drawing approved by Nigam) Steel Wt. 280 Kg. Each structure.	6.000	Each	16000.00	96000.00	INR Ninety Six Thousand Only		
201.00	One H/w with 3 Disc insulator (120KN) for Panthe	19.000	Set.	3700.00	70300.00	INR Seventy Thousand Three Hundred Only		
202.00	PG Clamp for ACSR Panther to Panther	76.000	Nos.	317.00	24092.00	INR Twenty Four Thousand &Ninety Two Only		
202.10	T/Clamp for Panther to Panther	76.000	Nos.	230.00	17480.00	INR Seventeen Thousand Four Hundred & Eighty Only		
203.00	ACSR panther conductor	436.000	Nos.	228.00	99408.00	INR Ninety Nine Thousand Four Hundred & Eight Only		
204.00	36 KV VCB, 1250 Amp	12.000	Set.	351815.00	4221780.00	INR Forty Two Lakh Twenty One Thousand Seven Hundred & Eighty Only		
204.10	12 KV VCB, 630 Amp. (Indoor Type)	11.000	Set.	376667.00	4143337.00	INR Forty One Lakh Forty Three Thousand Three Hundred & Thirty Seven Only		
205.00	33KV CT (1 Set of 3 Nos.) 240-120-60/5A-5A	6.000	Set.	160000.00	960000.00	INR Nine Lakh Sixty Thousand Only		
206.00	33KV CT (1 Set of 3 Nos.) 400-200-100/5A-5A	12.000	Set.	180000.00	2160000.00	INR Twenty One Lakh Sixty Thousand Only		

Bidder Name :						
	<u>P1</u>	RICE SCHE	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
206.10	33KV PT, 33 KV/110 V	5.000	Set.	90834.00	454170.00	INR Four Lakh Fifty Four Thousand One Hundred & Seventy Only
207.00	11KV PT, 11 KV/110 V	2.000	Set.	35070.00	70140.00	INR Seventy Thousand One Hundred & Forty Only
208.00	11KV RVT, 11 KV/110 V	2.000	Set.	36500.00	73000.00	INR Seventy Three Thousand Only
208.10	11KVCT (1 Set of 3 Nos) 300-150-100/5A-5A	4.000	Sqmm.	115000.00	460000.00	INR Four Lakh Sixty Thousand Only
209.00	Supply and fixing of X-15 type structure for isolator made of M.S. Angle of size 75×75×6 mm for main and 65×65×6 mm M.S. Angle for bracing including execution of pit of required size complete in all respect as per latest specification of JVVNL approximate weight 150 Kg	7.000	Cum.	12140.00	84980.00	INR Eighty Four Thousand Nine Hundred & Eighty Only
210.00	SITC of control and relay panel including checking of wiring and conducting all pre commissioning tests before energisation satisfactory operation of all equipment existing thereof complete in all respect as per latest specifications of Discom.					
210.10	33 KV control panel feeder Type	6.000	Set.	182500.00	1095000.00	INR Ten Lakh Ninety Five Thousand Only
211.00	Earth work in excavation/ by mechanical means (Hydraulic Excavator)/ manual means over areas (exceeding 30 cm in depth, 1.5m in width as well as 10 sum on plan) including disposal of excavated earth, lead upto 50 m and lift upto 1.5 m, disposed earth to be levelled and neatly dressed:	64.000	Cum.	404.80	25907.20	INR Twenty Five Thousand Nine Hundred & Seven and Paise Twenty Only
212.00	Providing and laying in position cement concrete including curing, compaction etc. complete in specified grade excluding the cost of centering and shuttering - All work up to plinth level.					
212.10	M15 grade Nominal Mix					
213.00	1: 2: 4 (1 cement : 2 coarse sand : 4 graded stone aggregate 40mm nominal size).	254.000	Cum.	4192.00	1064768.00	INR Ten Lakh Sixty Four Thousand Seven Hundred & Sixty Eight Only

Bidder Name :						
	PI	RICE SCHE	DULE			
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
	SITC of control and relay panel including checking of wiring and conducting all pre commissioning tests before energisation satisfactory operation of all equipment existing there of complete in all respect as per latest specifications of Discom.					
214.10	33 KV control panel transformer Type	2.000	Set.	235565.00	471130.00	INR Four Lakh Seventy One Thousand One Hundred & Thirty Only
215.00	SITC of 33/11 KV, 8 MVA, star delta power transformer	2.000	Nos.	5261250.00	10522500.00	INR One Crore Five Lakh Twenty Two Thousand Five Hundred Only
	Supply & Erection of lattice structure of height 11 mtr in alignment, including excavation of pit and Providing and laying of cement concrete in ratio 1:3:6 using 43 grade cement, river sand and 12 mm to 20 graded blast crusher broken in pit/found cement plaster upto 0.50mtr. from top to bottom in 1:3:6 ratio and paint of tower of approved make two coat of red oxide paint and one coat of aluminium paint before installation and one coat of paint after irrection work completed as per technical specifications & drawing of DISCOM.	26.000	Each	24400.00	634400.00	INR Six Lakh Thirty Four Thousand Four Hundred Only
	Providing & making heat shrinkable type indoor/outdoor/straight through terminations/joint kit of Group1 and approved make suitable for XLPE insulated 11 KV / 33 KV cable, with required components, prepration of cable ends,testing etc. as required of following sizes . 11 KV End Termination Kit Outdoor type					
218.00	3 core 240/300 Sq.mm	48.000	Set.	5600.00	268800.00	INR Two Lakh Sixty Eight Thousand Eight Hundred Only
218.10	33 KV End Termination Kit Outdoor type					
	3 core 240/400 Sq.mm	44.000	Set.	8085.12	355745.28	INR Three Lakh Fifty Five Thousand Seven Hundred & Forty Five and Paise Twenty Eight Only
220.00	33 KV Straight Through Joint Kit					
220.10	3 core 240/400 Sq.mm	48.000	Set.	24229.44	1163013.12	INR Eleven Lakh Sixty Three Thousand &Thirteen and Paise Twelve Only

Bidder Name :										
	PRICE SCHEDULE									
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words				
	Supply and installation of spike of M.S. rod 20mm dia 3.0mtr. long for earthing of (tower/pole) drive into earth by mechnical means sturcture connection the spike with cross arm top hamper PCC pole, lattics tower to earth etc. complete as per technical specification of DISCOM	43.000	Set.	520.00	22360.00	INR Twenty Two Thousand Three Hundred & Sixty Only				
222.00	P & Laying XLPE insulated IS:7098/II/85 of Group1 and approved make H.T.cable for working voltage 11 K.V.Earthed direct in ground including excavation of 30cmx100cm size trench, 25cm layer of river sand, IInd class bricks covering, refilling earth, compaction of earth, making necessary connection testing etc.as required of size.									
222.10	3 core 185.0 Sq.mm	5000.000	Mtr	1012.80	5064000.00	INR Fifty Lakh Sixty Four Thousand Only				
223.00	S & Laying following size earth wire/strip in horizontal or vertical run in ground/surface/recess including riveting, soldering, saddles, making connection etc. as required.									
224.00	8 SWG G.I. (Hot Dipped) Wire	540.000	Mtr	7.20	3888.00	INR Three Thousand Eight Hundred & Eighty Eight Only				
	S & Laying following size' B ' class G.I. Pipe confirming to IS: 1239 P - 1 (1990) with accessories for laying earth conductor/strip / cable in ground/surface/recess as required									
225.00	100 mm dia.	280.000	Mtr	533.60	149408.00	INR One Lakh Forty Nine Thousand Four Hundred & Eight Only				
226.00	125 mm dia.	150.000	Mtr	740.00	111000.00	INR One Lakh Eleven Thousand Only				

Bidder						
Name:						
	<u>P1</u>	RICE SCHEI	DULE			
Sl. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
226.10	Supply and fixing of 11kV, 400 Amp 3pole, central pot rotating double break type isolator (IS:9921 part I toV) without earth blade operating mechanism with GI spring loaded reverse loop type fixed contact, solid hard drawn electolytic copper tubular moving contact with silver/ nickel plated at end points, 9 nos post insulator of 12 kV (IS:2554 & IS 5350 part III), hot dipped galvanising hard ware, nut, bolts etc complete in all respect as per specification of Discom.(Type tested by ERDA/CPRI.)		Each	10520.00	241960.00	INR Two Lakh Forty One Thousand Nine Hundred & Sixty Only
	P & Laying XLPE insulated IS:7098/II/85 of Group1 and approved make H.T.cable for working voltage 33 K.V.Earthed direct in ground including excavation of 30cmx120cm size trench, 25cm layer of river sand, IInd class bricks covering, refilling earth, compaction of earth, making necessary connection testing etc.as required of size. 3 core 300.0 Sq.mm					INR Four Crore Seventy Eight Lakh Ten
		24040.000	Mtr	1988.80	47810752.00	Thousand Seven Hundred & Fifty Two Only
228.10	SITC of Cutting back up surface up to 2 Mtr. Depth by digging by Bogi including all layers of crust for laying pipe line etc. and making good to original condition (excluding cost of bitumen)	24000.000	Mtr	288.00	6912000.00	INR Sixty Nine Lakh Twelve Thousand Only

Bidder										
Name:										
PRICE SCHEDULE										
S1. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words				
229.00	Supply and fixing of 33 KV, 630 Amp 3 pole, central pot rotating double break type isolator (IS: 9921 part I to V) without earth blade operating mechanism with GI spring loaded reverse loop type fixed contact, solid hard drawn electrolytic copper tubular moving contact with silver / nickle platedat and points, 18 nos post insulator of 12 KV (IS 2554 & IS 5350 part III), hot dipped galvanising hard ware, nut, bolts etc. complete in all respect as per specification of Discom (Type tested by ERDA CPRI).	26.000	Each	26910.00	699660.00	INR Six Lakh Ninety Nine Thousand Six Hundred & Sixty Only				
Total in					190687045.44	INR Nineteen Crore Six Lakh Eighty Seven Thousand &Forty Five and Paise Forty Four Only				
Quoted	Rate in Figures		Select		0.00	INR Zero Only				
Quoted Rate in Words				IN	R Zero Only					